SENSOR ACTOR LINE
SOCKETS

CONES
wWIIEN

TECHNOLOGY IN CONNECTORS"

l "5".".1,1 \'1'-\\,\ X N 4 N\ \

AN \1H \ \\\\\ =

\ il

N




CONES
wWiNIT N

TECHNOLOGY IN CONNECTORS"

As a leading connector manufacturer CONEC develops,
produces and markets connectors worldwide for the appli-
cation fields: industrial electronics, telecommunications,
automation, automotive, aerospace and medical.

CONEC Germany, Lippstadt

B

CONEC Canada, Brampton

CONEC USA, Garner




At the headquarters in Lippstadt CONEC maintain
a large research and development department, its own
tool making department, CNC-turning department and a
synthetics injection moulding plant. CONEC is a global
player with its own subsidiaries or production sites in
Canada, the USA, China, Czech Republic, Poland, France
and the UK.







OUR PHILOSOPHY -
CUSTOMER SATISFACTION

CONEC products stand for precision and quality. Whether a standard solution
or an application-specific customer solution is required: owing to its very high
level of vertical integration, CONEC can satisfy nearly every requirement. The
company's quality management system meets the requirements of the inter-
national standards TS 16949 and DIN ISO 9001. To filfil international and
national requirements most of CONEC product series are registrated by UL,
CSA or VDE.

;N
A T4

NEC



CONTENT

Page
I FRONT PANEL MOUNTING 8
Nomenclature, Productspecification
Wire termination 12
Standard M8x1, M12x1, 7/8", PG9, M16, with LED M12x1, positionable M12x1,
Square flange (126,120 M12x1, coupling nut turnable M12x1
Solder termination /Solder cup 21
Standard M12x1, Square flange (120 M12x1
Dip solder termination 22
Standard M12x1, P5, P12, 7/8", dip solder termination 7/8",
dip solder termination 2-parts X10, X5,5, dip solder termination 2-parts angled
Power 25
M12x1, S- and T-Coding
Food & Beverage 27
Standard M8x1, M12x1 wire termination
High Temperature 28
Standard M12x1 4-, 5-pos.., wire termination, solder cup
Industrial BUS-Systems 31
Industrial Ethernet 100 MHz D-Cod., Industrial Ethernet 500 MHz X-Cod., Industrial Ethernet 500 MHz B-Cod.
Profibus, DeviceNet, CAN-Bus
Il BACK PANEL MOUNTING 36
Nomenclature, Productspecification (Page 8)
Wire termination 36
Standard M8x1, M12x1, 7/8", PG9, M16
Dip solder termination 39
Standard M8x1, M12x1, P5,5, P12, 7/8", dip solder termination 7/8", dip solder termination 2-parts M12x1,
X10, X5,5, dip solder termination 2-parts angled, housing with shielded connection P6,75
With cable, shielded 44
Standard 5-, 8-, 12-pos.., G2-cable
Power 46
M12x1, S- and T-Coding
Food & Beverage 47
Standard M12x1
High Temperature 49
M12x1 4-, 5-pos.., wire termination, dip solder termination
Industrial BUS-Systems 51

Industrial Ethernet 100 MHz D-Cod., Profibus-DP B-Cod., DeviceNet/CAN-Bus A-Cod.

SONEC



B PROTECTION CAPS

Page

I PANEL PLUG MALE/ FEMALE

Solder version

Dip solder

M Sockers SMT

Insulation body.

Sockets

B PiN ASSIGNMENT

M PCB-Lavout

B PaNEL cuT ouT

B PArT NUMBERS

59
60
Nomenclature, Productspecification
62
Standard M8x1, M12x1
64
Standard M8x1, M12x1
68
Nomenclature, Productspecification
70
M12x1 Female socket with/without shielding, M12x1 Male socket with/without shielding
72
Front panel mounting installation height 9,0 mm, M12x1 Female socket with/without shielding,
M12x1 Male socket with/without shielding
Front panel mounting installation height 13,0 mm, M12x1 Female socket with/without shielding
Mounting hardware 75
76
78
81
I SMT DIMENSION DRAWINGS & LAYOUT PROPOSAL 82
88
CONEC

7



SAL M8x1/M12x1 SOCKETS

Nomenclature

sIARLY | | Jsfs] Jriciriofals] | | Jx]-Jol o

=

CSONEC



SAL M8x1/M12x1 SOCKETS

Productspecification

Basic material

Contact

Contact plating
Contact carrier
Sealing

Counter nut

Socket housing
Grouting

Shielding

Shielding plated
Coupling nut turnable

Light conductor

Technical Data

CuZzn

Nickel-plated, gold-plated

PBT GF, UL 94 / PA, UL 94 / TPU GF, UL 94
FPM / NBR

CuZn, nickel-plated

CuZn, nickel-plated

Polyurethane-resin, UL 94

Spring steel

Sn plated

GD-Zn, nickel-plated

PA 12

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage
Current rating
Insulation resistance
Pollution degree
Degree of protection

Mating cycles

Recommended torque for housing: 0,8-1,2 Nm

Technical subject to change without notice.

IEC 61076-2-101 / IEC 61076-2-104
IEC 61076-2-101 / IEC 61076-2-104
IEC 60512

IEC 60664-1

IEC 60529

IEC 60512-9a

Vo o || o
\\ll‘ =9

9



SAL 7/8" SOCKETS

Nomenclature

siafil-J70/ds)-Jrik] Jal-Josi | ]|

=i ”

10 SONEC



SAL 7/8" SOCKETS

Productspecification
]
Contact CuZn
Contact plating Nickel-plated, gold-plated
Contact carrier TPU, UL 94
Sealing FPM
Counter nut CuZn, nickel-plated
Socket housing CuZn, nickel-plated
Grouting Polyurethane-resin, UL 94
Shielding CuSn6
Shielding plated Sn plated

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 60664-1
Overvoltage category IEC 60664-1 2
Overvoltage impulse IEC 60664-1 2,7kV
Current rating IEC 60512-3
Insulation resistance IEC 60512

Pollution degree IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Technical subject to change without notice.

CSONEC 11



12

FRONT PANEL MOUNTING

—_
<
Wire termination 2 <
S S N
S IS »
8 3 S
M8x1 Female socket M8x1 3 60 3 PVC 24 02 42-01000
M8x0,5-thread ‘ Pin 1 M SAL-8-FK3-0,2
I Pin 3
Width across i o Pin 4 Il
flats 10 i
[{e]
Sealing | 4 30 3 PVC 24 02 42-01001
Pin 1 8- H
| pn = SAL-8-FK4-0,2
Pin 3 W
Pin 4 W
-
8 30 15 PVC 26 0,2 42-01070
Pin 11 Pin 5 _Q.FKS.
Pin 2 Pin 6 SAL-8-FK8-0,2
Pin 3 Pin 7 I
Pin4[] Pin 8 I
M8x0,5
M8x1 Male socket 3 60 3 PVC 24 02 42-01032
M8x0,5-thread Mex Pin 1 SAL-8-F$3-0,2
Pin 3 I
== Pin 4 W
Width ®
O i
4 30 3 PVC 24 0,2 42-01033
Seaing—" Pin 1 -8-FS4-
e SAL-8-F54-0,2
M8x0,5 Pin 3 I
Pin 4 N
-
M8x1 Female socket Mo - 5 B 30 3 PVC 24 02 4201069
M8x0,5-thread Pin 21 SAL-8B-FK5.1-0,2
Width across: Pin 3 I
flats 10 - Pin 4 I
Pin 5
! ©
Sealing:
-
M8x0,5
M12x1 Pin 1 4 A 250 4 PVC 24 05 43-01000
Pin 2
M12x1 Female socket e SAL12-FK4-0,5
M16x1,5-thread M12x1 Pin 4 m
: Pin 1
Width across N B 2 5 A 60 4 PVC 24 05 43-01001
flats 17 B Pin 3 SAL-12-FK5-0,5
E Pin 4 W
Sealing Pin5 M
ﬁ E iy |- 5 A 60 4 PVC 24 05 43-01045
Pin 2]
Pin 3 SAL-12-FK5.1-0,5
Pin 4 N
- Pin 5
Pin1C  Pin 5 M 8 A 30 2 PVC 24 05 43-01002
Pin 2 Il Pin 6 _10- 5
M16x1,5 Pin3MM  Pin7 MM SRS
Pin4[1 Pin 8 I

SONEC




FRONT PANEL MOUNTING

_
<
Wire termination 2 <
S S Q
bS] £ ®
8 3 S
M12x1 Male socket Mi12xt Pin 1 4 A 250 4 PVC 24 05 43-01009
M16x1,5-thread g;: g E SAL-12-FS4-0,5
Pin 4 N
Width across
o .
flats 17 \N 2 GBI 5 A 60 4 PVC 24 05 4301010
Crr=rry) 17 pin 3 mm SAL-12-FS5-0,5
_EITE i
Sealing Pin 5
g;:;; 5 A 60 4 PVC 24 05 43-01049
O Pin 3 H SAL-12-F55.1-0,5
Pin 4 HN
Pin 5
V16 Pn1C  pnsem 8 A 30 2 PVC 24 05 43-01011
x1,5 . .
Pn2EM  Pin6 SAL-12-FS8-0,5
Pin 3 Il Pin 7 I
Pin4[] Pin 8 I
M12x1 Female socket Pin 1M Pin 7 12 A 30 15 PVC 26 05 43-01331
M16x1,5-thread M12x1 g;: g ; g;: g: SAL-12-FK12-0,5
Width across c %< Pin4M  Pin 10 W
Pin 5 Pin 11 ™
s N o Pn6C  Pin12mm
M16x1,5
M12x1 Male socket Pin 1M Pin 7 12 A 30 15 PVC 26 05 43-01330
M16x1,5-thread M12x1 g;: § ; g;: g: SAL-12-FS12-0,5
Width across Pin 4 Pin 10 W
flats 17 \ - Pin 5 Pin 11
a Pin6]  Pin 12 M
@
Sealing \\v—ﬁ &g
-
I
M16x1,5
M12x1 Female socket Pin 1 W 4 A 250 4 PVC 24 05 43-01073
PG9-thread M1zt P : - SAL-12-FK4-0,5-9
Pin 4 N
Width across flats 17
\ ,
@ o g;:;; 5 A 60 4 PVC 24 05 43-01075
= < Pin 3 SAL-12-FK5-0,5-9
wn— T ] i
g::;; 5 A 60 4 PVC 24 05 43-01074
4 Pin 3 SAL-12-FK5.1-0,5-9
Pin 4 N
Pin 5
PGo Pin1C  Pin5mm 8 A 30 2 PVC 24 05 43-01097
Pn2MM  Pin6 SAL-12-FK8-0,5-9

Pin 3 Pin 7 I
Pin 4[] Pin 8

Vo o
s

NES

13



14

FRONT PANEL MOUNTING

—_
<
Wire termination 2 <
2 § N
hS} S ®
8 3 S
M12x1 Male socket Pin 1 4 A 250 4 PVC 24 05 43-01082
M12x1 Pin 2] 1. 5.
PG9-thread X e SAL-12-F54-0,5-9
J— Pin 4 N
Width across ,
flats 17 2 pn = 5 A 60 4 PVC 24 05 43-01084
T,
== " Pin 3 SAL-12-FS5-0,5-9
Pin 4 I
Sealing Pin 5
pn = 5 A 60 4 PVC 24 05 43-01083
; Pin 3 W SAL-12-F55.1-0,5-9
Pin 4 HE
Pin 5
Pin1CJ  Pin5mm 8 A 30 2 PVC 24 05 43-01099
PG9 Pin 2 Pin 6 _17.FCR.0 5.
Pin3ME  Pin7HE SAL-12-F58-0,5-9
Pin 4[] Pin 8 Il
M12x1 Female socket pn1mm pn7mm 12 A 30 15 PVC 26 05 43-01345
Pin 2 I Pin 8 _10- .05-
PG9-thread M12x1 BAE e SAL-12-FK12-0,5-9
Pin 4  Pin 10 N
Width across Pin 5 Pin 11 =
flats 17 Pin6C—1  Pin 12 N
Sealing
M12x1 Male socket Wit pn1mm pPn7mm 12 A 30 15 PVC 26 05 43-01346
’ X Pn2 MM  Pingmm SAL-12-FS12-0,5-9
PGY-thread Width across g'" iE‘ P!)i"]g=
flats 17 4 in in
e \%\ﬂﬂﬁ Pin 5 Pin 11 M
o Pin6C  Pin 12 N
Sealing \\Q/ﬁ <
-
PG9
SHEAIIIERED 3 A 100 4 PVC 22 05 4301867
M12x1 Female socket s i 1 30 SAL-12- FK3-41-0,5
with LED L Pin 3
Mi2xt Pin 4

M16x1,5-thread

a )

0

33,9
3.2

Width across
" flats 17

Sealing

SONEC




FRONT PANEL MOUNTING

<
Wire termination 2 <
N 3 S
7/8" Female socket 2+PE 300 8 PVC 18 0,5 41-40006
PG13,5-thread goas PE M SAL-7/8-FK2PE-0,5
7/8" - 16UN E:: g :
1
Width across. ;
fals2d Ple 4 300 8 PVC 18 0,5 41-40007
N Pin 1 - 5 L
S jj)] = SAL-7/8-FK4-0,5
Sealing Pin 3 N
Pin 4 N
) - 4+PE 300 8 PVC 18 05 41-40008
Pin 2 SAL-7 /8-FK4PE-0,5
| Paws PE W
Pin 4 I
Pin5 [
7/8" Male socket 2+PE 300 8 PVC 18 0,5 41-40000
PG13,5-thread 3238 PE W SAL-7/8-FS2PE-0,5
7/8" - UN16 Pin 2 I
;ﬁggfcmss : Pin 3 N
(T~ T 48 4 300 8 PVC 18 05 41-40001
Pin 1 B <A,
D i SAL-7/8-F54-0,5
Sealing N‘-*H Pin 3
Pin 4 N
Pa1a5 1 — 4+PE 300 8 PVC 18 0,5 41-40002
Pin 2 I SAL-7/8-FS4PE-0,5
PE H
Pin 4 I
Pin5 [
7/8" Female socket 2+PE 300 8 PVC 18 05 41-40030
PG11-thread 2208 PEH SAL-7./8-FK2PE-0,5-11
778" - 16UN Pin 2 !
T Pin 3 I
%L, _ 4 300 8 PVC 18 05 41-40031
Sealing | ) ; SAL-7/8-FK4-0,5-11
Pin 3 N
& Pin 4 I
1
Pats i — 4+PE 300 8 PVC 18 0,5 41-40032
Pin 2 N SAL-7/8-FK4PE-0,5-11
PE H
Pin 4 I
Pin5 [
7/8" Male socket 2+PE 300 8 PVC 18 05 41-40024
PG11-thread g3 PE W SAL-7/8-FS2PE-0,5-11
778" - 16UN g:: ; :
I
|
X\;gg:crox\ } © :, 4 300 8 PVC 18 0,5 41-40025
N Pin 1 Il
T 1 )] il SAL-7/8-F54-0,5-11
. Pin 3 I
Sealing Pin 4
B - 4+PE 300 8 PVC 18 05 41-40026
Pin 2 SAL-7/8-FS4PE-0,5-11
PG13,5 PE ®
Pin 4
Pin5 [

CONES

15



1

FRONT PANEL MOUNTING

<
Wire termination g <
m 4~
SIE ¢l ¢
8 3 S
7/8" Female socket 2+PE 300 8 PVC 18 0,5 41-40000
PG13,5-thread PE W SAL-7/8-FS2PE-0,5
Pin 2
#23,8 .
7/8" - UN16 Pin 3 L
X\I\‘dthzicross [ ‘?]’/H
; 105 4 300 8 PVC 18 05 41-40001
~ P Pin 1 M = @ R
(I~ T 1 il e SAL-7/8-F54-0,5
/ Pin 3 I
Sealing + u Pin 4 N
JH \] pin 1 4+PE 300 8 PVC 18 0,5 41-40002
PG135 Pin 2 I SAL-7 /8-FS4PE-0,5
PE W
Pin 4 I
Pin5 ]
7/8" Male socket 2+PE 300 8 PVC 18 0,5 41-40030
PG13,5-thread PE M SAL-7/8-FK2PE-0,5-11
238 Pin 2
7/8" - 18UN Pin 3 N
wlh acoss—_| ! 2| e - 4 300 8 PVC 18 05 41-40031
e SAL-7/8-FK4-0,5-11
ealin ! Pin 3 I
e m* Pin 4 W
&
pin 1 4+PE 300 8 PVC 18 05 41-40032
- Pin 2 SAL-7/8-FKAPE-0,5-11
PE W
Pin 4
Pin5 ]
7,/8" Female socket 2+PE 300 8 PVC 18 05 41-40024
PG11-thread PE M SAL-7/8-FS2PE-0,5-11
Pin 2 I
@238 .
7/8" - UN16 Pin 3 L
width across. i
flats 24
N S _ 4 300 8 PVC 18 05 4140025
IS 1 4% i SAL-7/8F54-0,5-11
/m Pin 3
Sealing ; Pin 4 N
5
077 Pin 1 4+PE 300 8 PVC 18 0,5 41-40026
PG Pin 2 I SAL-7 /8-FS4PE-0,5-11
PE W
Pin 4 I
Pin 5 ]
7/8" Male socket 2+PE 300 12 PVC 16 0,5 41-40015
PG11-thread PE W SAL-7/8-FK2PE-0,5/ 150
$23.8 Pin 2
7/8" - 16UN Pin 3 N
]
Wicth across —. i 5. 4 300 12 PVC 16 05 41-40016
flats 24 3 Pin 1 _  FKA-
s ? TT B 2 SAL-7/8-FK4-0,5 /150
< Pin 3 M
Sealing Pin 4 N
) i 1 4+PE 300 12 PVC 16 05 41-40017
Pin 2 W SAL-7 /8-FK4PE-0,5/ 150
PG13,5 PE W
Pin 4 W
Pin5 ]

SONEC



FRONT PANEL MOUNTING

Wire termination

M12x1 positioning possible

Wire @ [AWG]

& Current rating [A]

> Coding

N
~

M12x1 Female socket Pin 1 4 250V PVC 0,5 43-01006
Pin 2]

positioning possible — SAL-12-FKP4-0,5

M16x1,5-thread ﬂj Pin 4 M

W‘d‘h“ms\’; Pin 1 I 5 A 60V 4 PVC 24 05 43-01007
flats 17

Pin 21
[

12

Pin 3 W SAL-12-FKP5-0,5
Pin 4 W
Pin 5

ISHE

::;; 5 A 60V 4 PVC 24 05 43-01053
U Pin 3 SAL-12-FKP5.1-0,5

Sealing

Pin 4 I
Pin 5

M16x1.5 Pin1C  Pin5mm 8 A 30V 2 PVC 24 05 43-01008

Pin2 MM  Pin6 SAL-12-FKP8-0,5
Pin 3 Pin 7 I

Pin 4[] Pin 8

M12x1 Male socket Pin 1 I 4 A 250V 4 PVC 24 05 43-01015
- . Pin 2]

positioning possible M12x1 bin 3 SAL-12-FKP4-0,5

M16x1,5-thread Pin 4 I

) =
Width across. .
fats 17 | ® RIDIL_ 5 A 60V 4 PVC 24 05 43-01016
T

Pin 21
Pin 3 SAL-12-FKP5-0,5

ﬁ/\\r Pin 4 N
ﬁ Pin 5 M
Sealing ' ' AU 5 A 60V 4 PVC 24 05 43-01054
I

25

Pin2[J
Pin 3 SAL-12-FKP5.1-0,5
o | Pin 4
Pin 5

Pin1C pnsem 8 A 30V 2 PVC 24 05 43-01017

M16x1,5 Pin 2 Pin 6 SAL-12-FKP8-0,5
Pn3EE  Pin7EM '

Pin 4[] Pin 8 I

M12x1 Female socket Pin 1M Pin7 M 12 A 30V 15 PVC 26 05 43-01341

[ : Pin2 B Pingmm
positioning possible i P:: = P:: o SAL-12-FKP12-0,5
M16x1,5-thread — Pin 4 M8 Pin 10 M

Pin 5 Pin 11 =

Width across \33 Pin6C1  Pin 12 W
N
flats 17 -

=
~
In

Sealing I |

M16x1,5

M12x1 Male socket Pn1mm pn7mm 12 A 30V 15 PVC 26 05 43-01342
positioning possible :: g ; :: g: SAL-12-FSP12-0,5
M16x1,5-thread M12x1 Pin 4 M8 Pin 10 W

Pin 5 Pin 11 =

Width across Pin6C Pin12 M

flats 17

i~

S|
|

Ll

i
M16x1,5

25

CONECT 17



18

FRONT PANEL MOUNTING

Wire termination

M12x1 positioning possible

M12x1 Female socket
positioning possible
PG9-thread

Width across
flats 17 \£

=
JPEaEiE
Sealing |

|
9

Pin 1
Pin 2]
Pin 3 I
Pin 4 I

Pin 1 Il
Pin 21
Pin 3
Pin 4 I
Pin5 M

Pin 1
Pin 21
Pin 3
Pin 4 I
Pin 5

Pin 1 CJ
Pin 2
Pin 3
Pin 4[]

Pin 5
Pin 6

Pin 7 I
Pin 8 Il

> Coding

250V

& Current rating [A]

PVC

Wire @ [AWG]

N
~

0,5

43-01091
SAL-12-FKP4-0,5-9

60V

24

0,5

43-01093
SAL-12-FKP5-0,5-9

60V

24

0,5

43-01092
SAL-12-FKP5.1-0,5-9

30V

24

0,5

43-01101
SAL-12-FKP8-0,5-9

M12x1 Male socket
positioning possible
PG9-thread

M12x1

Width across
flats 17 !

Pin 1
Pin 2]
Pin 3 I
Pin 4 I

Pin 1 Il
Pin 21
Pin 3 I
Pin 4 N
Pin 5 M

Pin 1
Pin2 ]
Pin 3
Pin 4 I
Pin 5

Pin 1
Pin 2
Pin 3
Pin 4[]

Pin 5
Pin 6

Pin 7 I
Pin 8 I

250V

24

0,5

43-01094
SAL-12-FSP4-0,5-9

60V

24

0,5

43-01096
SAL-12-FSP5-0,5-9

60V

24

0,5

43-01095
SAL-12-FKP5.1-0,5-9

30V

24

0,5

43-01102
SAL-12-FSP8-0,5-9

M12x1 Female socket
positioning possible
PG9-thread

M12x1
——

Width across
flats 17

Sealing

1\

PG9

Pin 1
Pin 2
Pin3J
Pin 4
Pin 5

Pin 6 1

Pin 7 I
Pin 8
Pin 9 I
Pin 10
Pin 11 ™

Pin 12

30V

1,5 PVC

26

05

43-01347
SAL-12-FKP12-0,5-9

M12x1 Male socket
positioning possible
PG9-thread

M12x1

Width across
flats 17

S =
Sealing ﬁ -

25

PG9

Pin 1
Pin 2 I
Pin3J
Pin 4
Pin 5

Pin 6 1

Pin 7 I
Pin 8
Pin 9 I
Pin 10
Pin 11 =

Pin 12 I

12 A 30V 15 PVC 26 05 43-01348

SAL-12-FSP12-0,5-9

SONEC




FRONT PANEL MOUNTING

_
<
Wire termination 8 =<
e S N
bS] £ ®
M12x1 Square flange 8 3 s
M12x1 Male socket . 4 A 250 4 PVC 24 05 43-0135]
Housing size 26 mm g;:;; SAL-12-FSV4-0,5-26
M12x1 Pin 3
Pin 4 N
==l

12

Pin 1 W 5 A 60 4 PVC 24 05 43-01352

@ - Pin 2 SAL-12-FSV5-0,5-26
L‘H o Pin 3 W
H= I Pin 4

\ Pin 5
a
Sealing

21

onesided self-adhesive

M12x1 Male socket , , 8 A 30 2 PVC 24 05 43-01353
Housing size 26 mm O SAL-12-FSV8-0,5-26
M12x1 Pin 3  Pin7 M
. Pin 4[] Pin 8 I
I:i\ﬂl
o~ |
- Pnimm  po7mm 12 A 30 15 PVC 24 05 43-01354
g4 o i SAL-12-FSV12-0,5-26
= T Pin 4  Pin 10 N

Pin 5 Pin 11 =
Pin6C]  Pin12HH
.}
Sealing

onesided self-adhesive

M12x1 Male socket 4 A 250 4 PVC 24 05 43-01355
. . Pin 1 -12- -0.5-
Housing size 20 mm Wit = SAL-12-FSV4-0,5-20
Pin 3 I
Pin 4 N
T O & B 1 5 A 60 4 PVC 24 05 43-01356
= Y Pin 2 [ SAL-12-FSV5-0,5-20
Pin 3 I
X Pin 4 N
; Sealing Pin 5 M
@12
M12x1 Male socket _ _ 8 A 30 2 PVC 24 05 43-01357
Housing size 20 mm Mi12x1 o e SAL-12-FSV8-0,5-20
L Pin 3 Pin 7 N
T Pin4[] Pin 8 N
o l
T g
T ] Pnimm Pn7mm 12 A 30 15 PVC 24 05 43-01358
- Y M2l GR&_ SAL-12-FSV12-0,5-20
Pin3C Pin 9 I
Pin 4  Pin 10
. Sealing Pin 5 Pin 11 1
Pin6[—]  Pin 12

@12

CONECT 19



FRONT PANEL MOUNTING

—_
<
4 B
2 § N
hS} S ®
M12x1 Coupling nut turnable 8 3 =
M12x1 Female socket ) 4 250 4 PVC 24 0,05 43-01378
M16x1,5-thread g:: ; ; SAL-12-FKD4-0,05
145 Pin 3 W
Mi2x1, Pin 4 NI
/HMH m” 2 i 1 5 60 4 PVC 24 0,05 43-01381
Width acrass flats 13 ‘ N P]n 2 |:| SAL—IZ-FKD5-0,05
Width acrass flats 17- i ) Pin 3 I
! Pin 4 NI
Sea\mg/ u Pin5 M
E u 8 30 2 PVC 24 0,05 43-01492
' Pin 11 Pin 5 -12- -
M16x1,5 e e SAL-12-FKD8-0,05
Pin 3 Pin 7
Pin4[] Pin 8 I
M12x1 Female socket 4 250 4 PVC 24 0,05 43-01493
M12x1-thread ores pn = SAL-12-FKD4-0,05-12
M12x1 * Pin 3 I
— Pin 4 NI
Wi scoss s 18— | s S 5 60 4 PVC 24 005 43-01494
Width acrass flats 17 Pin 2] SAL-12-FKD5-0,05-12
! Pin 3 I
Seaing ] Pin 4 I
LJ w Finsm
- |
Mt 8 30 2 PVC 24 0,05 43-01495
Pin 1 Pin 5 -12- 4 -
B MG SAL-12-FKD8-0,05-12
Pin 3 I Pin 7 I
Pin 4[] Pin 8 I

20 CONEC



FRONT PANEL MOUNTING

<
Solder termination/Solder cup g =
B_, -
5 S8 3
N 3 s
M12x1 Male socket 4 A 250 4 55 43-02294
M16x1,5-thread M12x1 SAL-12-FS4-L
Width across
fiats 17 I_\QH
\ .
j=]
Sealing e B & 5 A 60 4 55 43-02295
\-ﬁ SAL12-FS5.1-L
T T
w0 1
©
. | 4 B 250 4 55 43-02296
SAL-12B-FS4-L
M16x1,5
Pag] SR e A 250 4 45 43-02303
M12x1 Male socket A SAL-12-FSV4-1-26
Housing size 26 mm ‘
M12x1
== . , 5 A 60 4 4,5 43-02304
o \ SAL-12-FSV5-1-26
& 5
B4 - s
o
fd 1]
a fUY 4 B 250 4 45 43-02305
! © SAL-12B-FSV4-1-26
&1 o
Sealing
onesided self-adhesive
M12x1 Male socket A* 4 A 250 4 10,5 43-02300
Housing size 20 mm SAL-12-FSV04-1-20
M12x1
Al
2
w| N
T 8 5 A 60 4 105 43-02301
[ QJ\ . SAL-12-FSVO5.1-1-20
= Uu Sealing
g1 g.
Frov0n 4 B 250 4 10,5 43-02302
SAL-12B-FSV04-1-20
$18,21508

CONET 21



FRONT PANEL MOUNTING

Dip solder termination

Wire @ [AWG]

M12x1 Dip solder termination 2-parts

&~ Current rating [A]

> Coding

M12x1 Female socket 4 250 55 43-01178
axial SAL-12-FK4-X5,5

Installation height 5,5 mm
@14

250 4 55 43-01179
SAL-125-FK4-X5,5

with shielding

M12x1

min 2,5mm - max 3mm
S
>

Sealing

Panel thickness

12

5 A 60 4 55 43-01180
SAL-12-FK5-X5,5

19,8

55

 Ip—— i —7 3
a8 5 A 60 4 55 43-01181
i SAL-125-FK5-X5,5

with shielding

29
w
=y
Q
c
o

M12x1 Female socket 4 A 250 4 10 43-01162
axial SAL-12-FK4-X10

Installation height 10 mm s

M12x1

4 A 250 4 10 43-01163
SAL-125-FK4-X10

with shielding

min 2,5mm - max 3mm

Sealing /

Panel thickness

243

° 5 A 60 4 10 43-01164
SAL-12-FK5-X10

oo e
N \Shroud

33

2.9

5 A 60 4 10 43-01165
SAL-125-FK5-X10

with shielding

M12x1 Female socket 8 A 30 2 10 43-01329
axial SAL-12-FK8-X10

Installation height 10 mm

8 A 30 2 10 43-01332
SAL-125-FK8-X10

with shielding

min 2,5mm - max 3mm

Sealing:

Panel thickness

243

Bttt 7 1=
N \S hroud

33
29

4 A 250 4 55 43-01182
SAL-12-FS4-X5,5

M12x1 Male socket axial
Installation height 5,5 mm

4 A 250 4 55 43-01183
SAL-125-FS4-X5,5

with shielding

min 2,5mm - max 3mm

Panel thickness

R

22

5 A 60 4 55 43-01184
SAL-12-FS5.1-X5,5

2,9

5 A 60 4 55 43-01185
SAL-125-FS5.1-X5,5

with shielding

22 CONEC



FRONT PANEL MOUNTING

Dip solder termination

M12x1 Dip solder termination 2-parts

Wire @ [AWG]

& Current rating [A]

> Coding

250 10 43-01166

SAL-12-FS4-X10

M12x1 Male socket axial
Installation height 10 mm

M12x1

Sealin \

250 4 10 43-01167
SAL-125-FS4-X10

with shielding

min 2,5mm - max 3mm
@
[&)]
N
S
>

Panel thickness

26,1

5 A 60 4 10 43-01168
SAL-12-FS5.1-X10

©
o

75
{_
—

® HE L'”‘\_ 5 A 60 4 10 43-01169
Shroud SAL-125-FS5.1-X10

with shielding

3,3

M12x1 Dip solder termination 2-parts, angled 4 A 250 4 43-01200

M12x1 Female socket SAL-12-FKW4
angled
@14

= 4 A 250 4 43-01201
35 Shroud SAL-125-FKW4

7% with shielding

5 A 60 4 43-01202
SAL-12-FKW5

min 2,5mm - max 3mm

Panel thickness

s v T

5 A 60 4 43-01203
SAL-125-FKW5

with shielding

4 A 50 4 43-01208
SAL-12-FSW4

M12x1 Male socket
angled

M12x1

7 4 A 250 4 43-01209

/ SAL-12S-FSW4
Sealin = ‘ S
? 7@% with shielding

N [ 60 4 43-01210
\ i moua SAL-12-FSW5. 1

T glo
En:E
‘ i 5 A 60 4 4301211
SAL-T2S-FSW5.1

with shielding

min 2,5mm - max 3mm
8
3

13,5

15
19

Panel thickness

i T— ]

o
i

o

T
w
>

)
Cal

CONEC 23



24

FRONT PANEL MOUNTING

<
Dip solder termination 2 <
2 S S
S N 2
8 3 s
Female socket axial A PE 2 2+PE 300 12 10 41-40045
PG11-thread $ SAL-7/8-FK2PE-P10-11
$23,8 S
. 7/8" - UN16
width across 3
flats 24 \ X A
,‘f :HE . 300 12 10 41-40046
sl SAL-7/8-FK4-P10-11
/f( Ty 71 4%
s /
e Ly 300 12 10 41-40047
3 o SAL-7./8-FK4PE-P10-11
Male socket axial 300 12 10 41-40042
PG11-thread A SAL-7/8-FS2PE-P10-11
@23,8
7/8" 16UN
T
width across l 300 12 10 41-40043
et I SAL-7/8-FS4-P10-11
N )
Sealing—/_‘
[]
LILDlDJ 300 12 10 41-40044
o 2ull SAL-7/8-FS4PE-P10-11
« PG13,5
Female socket axial, 300 12 10 41-40021
PG13,5-thread X + SAL-7/8-FK2PE-P10
@238
7/8" - UN16
width across '
flats 24 \;g@ 300 12 10 41-40022
; ~ SAL-7/8-FK4-P10
(T~ T 148
. !
e ‘
Sealing I 1 » 4+PE 300 12 10 41-40023
2N\
a a ,///?7\\\\\ SAL-7/8-FK4PE-P10
PG135 (\ —+O) )
309
D —
A 4
Male socket axial, A 300 12 10 41-40018
PG13,5-thread + SAL-7/8-FS2PE-P10
?23,8
7/8" - 16UN
;
width acr0ss ! _ 300 12 10 41-40019
fas2d ! #l e SAL-7/8-FS4-P10
I~ T
Sealing/_4
o
- 1 300 12 10 41-40020
° Patt SAL-7./8-FS4PE-P10

SONEC




FRONT PANEL MOUNTING

<
S <
‘ M12x1 Wire termination 8 3 =
M12x1 Female socket 2+4PE S 630 12 PVC 16 0,5 43-02410
M16x1,5-thread M12x1 Pin 1 SAL-125C-FK2PE-0,5
: Pin 3 ER
‘ PE W
width across flats 17 ! o
(TR T 18| @
J & 3+PE S 630 12 PVC 16 0,5 43-02392
— hnl SAL-12SC-FK3PE-0,5
Pin 2 EE 1450+ U
L] Pin 3 EEM
u PE W
M16x1,5
M12x1 Male socket M2 2+PE 'S 630 12 PVC 16 0,5 43-02411
M16x1,5-thread 2 Pin 1 SAL-12SC-FS2PE-0,5
: Pin 3 EEM
PE W
width across flats 17 )
<
(T T s
/ﬁﬁ N _ 3+PE S 630 12 PVC 16 05 43-02394
sealing ol SAL12SC-FS3PE-0,5
l ‘ Pin 3 EER
PE M
-
M16x1,5
M12x1 Female socket 3 T 63 12 PVC 16 05 43-02412
M16x1,5-thread M12x1 Pin 1 SAL-12T-FK3-0,5
T Pin 3 N
g Pin 4 W
width across flats 17 | N
CTrErTT) 1 g @
/ﬁﬁ & _ 4 T 63 12 PVC 16 05 43-02393
sealing pnl e SAL-I2T-FK4-0,5
I I Pin 3 N
Pin 4 N
M16x1,5
M12x1 Male socket 3 T 63 12 PVC 16 05 43-02413
M16x1,5-thread M12x1 Pin 1 SAL-12T-FS3-0,5
Pin 3 N
N Pin 4 N
width across flats 17\ o
o 8 g
* _ 4 T 63 12 PVC 16 05 43-02395
i pnle= SAL-I2TFS4-0,5
sealing | ‘ Pin 3 W
Pin 4 HN
M16x1,5

=g e
CONEC 25



26

FRONT PANEL MOUNTING

Food & Beverage

M8x1 Wire termination

M8x1 Female socket
M8x0,5-thread

M12x1 Wire termination

M12x1 Female socket
M16x1,5-thread

Width across
flats 10

8,5

16

Sealing

M8x0,5

Pin 1 I
Pin 3 HI
Pin 4 HE

Pin 1 I
Pin 2 1
Pin 3 I
Pin 4 N

Coding

60

Current rating [A]

2
a

Wire @ [AWG]

N
N

0,2

42-01018
SAL-FB-8-FK3-0,2

30

PVC

24

0,2

42-01019
SAL-FB-8-FK4-0,2

Width across ——__|

flats 17

12

Sealing —

Crr
—

20,5

Pin 1 I
Pin2 1
Pin 3 I
Pin 4 I

Pin 1
Pin 2
Pin 3 I
Pin 4 I
Pin 5

Pin 1
Pin 2]
Pin 3 I
Pin 4 I
Pin 5 M

250

PVC

24

0,5

43-01018
SAL-FB-12-FK4-0,5

60

PVC

24

0,5

43-01047
SAL-FB-12-FK5.1-0,5

60

PVC

24

0,5

43-01019
SAL-FB-12-FK5-0,5

M12x1 Male socket
M16x1,5-thread

Width across
flats 17

13

20

Sealing

M16x1,5

Pin 1 Il
Pin 2
Pin 3 I
Pin 4 I

Pin 1
Pin 2]
Pin 3 I
Pin 4 I
Pin5 M

Pin 1
Pin 2]
Pin 3
Pin 4 I
Pin 5

250

PVC

24

0,5

43-01020
SAL-FB-12-FS4-0,5

60

PVC

24

0,5

43-01021
SAL-FB-12-FS5-0,5

60

PVC

24

0,5

43-01051
SAL-FB-12-FS5.1-0,5

M12x1 Female socket
PG9-thread

Width across —_|

flats 17 (-\’_I;-

12

20,5

Sealing

Pin 1
Pin 2]
Pin 3
Pin 4 I

Pin 1
Pin2 ]
Pin 3
Pin 4 I
Pin5 M

Pin 1
Pin2 ]
Pin 3
Pin 4 I
Pin 5

250

PVC

24

0,5

43-01103
SAL-FB-12-FK4-0,5-9

60

PVC

24

0,5

43-01105
SAL-FB-12-FK5-0,5-9

60

PVC

24

0,5

43-01104
SAL-FB-12-FK5.1-0,5

SONEC




FRONT PANEL MOUNTING

-
=
Food & Beverage N =
2 s N
BS S o
M12x1 Wire termination S 3 =
M12x1 Male socket Mi2xd Pin 1 I 4 A 250 4 PVC 24 05 43-01106
PG9-thread T ;’;2;2 SAL-FB-12-F$4-0,5-9
Width across '\Qiﬂ . Pin 4 HE
flats 17 J - -
, 17 pn - 5 A 60 4 PVC 24 05 4301108
Sealing /Hﬁ) pin 3 SAL-FB-12-FS5-0,5-9
Pin 4 N
Pin5 M
pn = 5 A 60 4 PVC 24 05 43-01107
Pin 3 SAL-FB-12-FS5.1-0,5-9
PGY Pin 4 N
Pin 5

SONET 27



FRONT PANEL MOUNTING

—
<
High Temperature HT 125°C S <
2 5 N
B
M12x1 Wire termination O &} =
M12x1 Female socket . 4 A 250 4 _ 24 05 43-01022
M16x1,5-thread pn = 2 SAL-HT-12-FK4-0,5
>
M12x1 P!n 3mm _8_
Width across flats 17 E Pin 4 Il 8
S ] , 5 A 60 4 24 0,5 43-01023
Sealing Fin 1 5]
Pin 21 = SAL-HT-12-FK5-0,5
Pin 3 I =
Pin 4 NI s
Pin 5 M o
— 5 A 60 4 . 24 0,5 43-01046
M16x15 Pin 21 = SAL-HT-12-FK5.1-0,5
Pin 3 <_>3*-
Pin 4 N Q.
Pin 5 8
M12x1 Male socket 4 A 250 4 24 05 43-01024
Pin 1 M (] HT-12-FS4-
M16x1,5-thread g — g SAL-HT-12-F54-0,5
Mi2x1 Pin 3 =
Pin 4 N 8
—
Width across ©
. ,ﬁ// flate 17 e o — 5 A 60 4 _ 24 05 4301025
= s e 0 N B Pin 2] z SAL-HT-12-F$5-0,5
Sealing /JHEE Pin 3 =
Pin 4 N g.
Pin 5 M &)
-
— 5 A 60 4 - 24 0,5 43-01050
Pin 21 = SAL-HT-12-FS5.1-0,5
Pin 3 I =
M16x1.5 Pin 4 2
Pin 5 ]
M12x1 Wire termination positioning possible
, 4 A 250 4 _ 24 05 43-01038
M12x1 Female socket AIDIL_ = SAL-HT-12-FKP4-0,5
M12x1 Pin 2] =
M16x1,5-thread — Pin 3 M S
Pin 4 N 8
Width
ﬂalts‘1?cross_\ ! 9
- e 5 A 60 4 o 24 05 43-01039
© Pin 21 = SAL-HT-12-FKP5-0,5
Pin 3 %‘-
Sealing T ' | Pin 4 N S
i Pin5H O
Pin 1 E 5 A 60 4 _ 24 05 43-0127
L Pin 21 < SAL-HT-12-FKP5.1-0,5
M16x1,5 Pin 3 =
Pin 4 N Q.
Pin 5 S
M12x1 Male socket 4 A 250 4 _ 24 05 43-01040
Pin 1 )
M16x1,5-thread i 2 SAL-HT-12-FSP4-0,5
M2t Pin 3 S
Pin 4 N 8
taeN I
. 5 A 60 4 24 0,5 43-01041
9 Pin 1 >
Pin 21 < SAL-HT-12-FSP5-0,5
Sealing © Pin 3 W %
T Pin 4 N g.
Pin5 M &)
u bin 1 5 A 60 4 _ 24 05 4301128
Mo 5 Pin 2] 2 SAL-HT-12-FSP5.1-0,5
. Pin 3 H %
Pin 4 I [<%
Pin 5 8

28 CONEC



FRONT PANEL MOUNTING

_
<
High Temperature HT 125°C s <
S s S
S S 2
M12x1 Wire termination 8 3 =
M12x1 Female socket . 4 A 250 4 24 05 43-01076
PG9-thread M12xt pn = ; SAL-HT-12-FK4-0,5-9
Width across flats 17 s Pin 3 N _8_
Pin 4
\ E E‘ . n 8
Seaing 8 - 5 A 60 4 _ 24 05 4301078
% in Z SALHT-12-FK5-0,5-9
Pin2[1 = a4
Pin 3 =
3 Pin 4 g
Pin 5 M S
-
f Pin 1 W 5 A 60 4 _ 24 05 4301077
PGo Pin 2 < SAL-HT-12-FK5.1-0,5-9
Pin 3 I =
Pin 4 I S
Pin 5 Il 8
M12x1 Male socket 4 A 250 4 24 05 43-01085
PGY-thread :: ; ; g SAL-HT-12-F54-0,5-9
M12x1 Pin 3 <_8-
Pin 4 3
Width across o
flats 17 -
8 — 5 A 60 4 _ 24 05 4301087
Sealing /'E* Pin 2] 2 SAL-HT-12-FS5-0,5-9
Pin 3 N =
Pin 4 I S
Pin 5 ]
- 5 A 60 4 _ 24 05 4301086
Pin 21 = SAL-HT-12-FS5.1-0,5-9
PG Pin 3 I =
Pin 4 M S
Pin 5 I 38
M12x1 Wire termination positioning possible 1IN - P oA e
M12x1 Female socket pn 1= g SAL-HT-12-FKP4-0,5-9
PGY-thread Mi2x4 Pin 3 S
! Pin 4 N 8
xVidth across E‘
ats 17 o~
a . 5 A 60 4 24 05 43-01113
Pin 1 - b
LN rg Pin 200 g SAL-HT-12-FKP5-0,5-9
s © Pin 3 W =
ealing Pin 4 2
‘ Pin5m 3
- - 5 A 60 4 _ 24 05 4301135
Pin 21 = SAL-HT-12-FKP5.1-0,5-9
Pin 3 N =
PG9 Pin 4 W S
Pin 5 S
M12x1 Male socket ) 4 A 250 4 _ 24 05 43-01114
PGY-thread pn 1= g SAL-HT-12-FSP4-0,5-9
Pin 3 I S
M2t Pin 4 W é"
Widih across lj\fLQi%
fl. 17 o
o ° . 5 A 60 4 24 05 43-01115
in 1 =
T g Pin 21 g SAL-HT-12-FSP5-0,5-9
\ﬁ ° Pin 3 W =
Sealing Pin 4 N Q.
] | Pin5H 8
u u S 5 A 60 4 _ 24 05 4301136
Pin 21 = SAL-HT-12-FSP5.1-0,5-9
PGY Pin 3 N =
Pin 4 S
Pin 5 8

SONET 29



FRONT PANEL MOUNTING

—_
<
ghe T ¢
High Temperature HT 125°C S < é
Sy 518 9% §
S S ® 2
M12x1 Square flange, wire termination S 3 = s
M12x1 Female socket 4 A 250 4 24 05 43-02324
Housing size 20 mm SAL-HT-12-FKV04-0,5-20
Pin 1 W 7}
w2 Pin 21 g
- Pin 3 S
I Pin 4 I [S)
ol @ ! €
- ! -
[1 :
1
i \ Sealing 5 A 60 4 24 05 43-02325
o SAL-HT-12-FKV05-0,5-20
Pin 1 5
Pin 2] =
Pin 3 =
P12+01 Pin 4 N 8.
P Pin 5 M 8
M12x1 Male socket 4 A 250 4 24 05 43-02326
Housing size 20 mm ot SAL-HT-12-FSV04-0,5-20
* Pin 1 g
— Al Pin2 1 =
o ! Pin 3 I S
o - < Pin 4 N 8
[ %
Sealing 5 A 60 4 24 05 43-02327
- SALHT-12-FSV05-0,5-20
Pin 1 5
Pin 2] =
Pin 3 I =
B12£01 Pin 4 HE 2
13,2439 Pin 5 S
M12x1 with solder cup =P 5.5 RS
M12x1 Male socket SAL-HT-F54-L
M16x1,5-thread
M12x1
Width across
flats 17 —
® 5 A 60 4 55 43-02358
Sea“ng\%w 8 SAL-HT-FS5.1-L
% @
M16x1,5




FRONT PANEL MOUNTING —
<
218908 e
Industrial BUS-Systems s IS
M12x1 Industrial Ethernet 100 MHz, D-coding, wire termination S 3 = s
M12x1 Female socket 4 D 250 4 PVC 22 0,5 43-01044
Pin 1] - . Y
M16x1,5-thread Mi12x1 pin 2 SAL-12D-FK4.2-0,5
i1 Pin 3
Width Pin 4 I
ﬂalts 17a CTO%ETY q‘ o
w
_ rry T <
J U
M16x1,5
M12x1 Female socket 4 D 250 4 PVC 22 0,5 43-01111
PG9-thread M12x1 iy SAL-12D-FK4.2-0,5-9
- Pin 2]
‘ Pin 3 I
T Pin 4
Width across — EA ~
flats 17 —
w
, O Y= v g
Sealing ———{ )
_j u
PG9
M12x1 Industrial Ethernet 100 MHz, D-coding, Dip solder termination, 2-parts 4 D 250 4 55 43-01222
M12x1 Female socket SAL-12D-FK4-X5,5
axial €
with shielding 1 5 16
[0
M12x1 W E 85
Xt g
: 55
Sealin fgg
© o
2 —
. 4
= | [ Pin Layout
== PCB 1,60mm
@ a
a
Shroud
M12x1 Female socket 4 D 250 4 10 43-01220
axial e SAL-12D-FK4-X10
with shielding S1a &
3
M12x1 WE
2 €
—
N
Sealing é E
o g
N
1 1
4U_U \
@
Doy Shroud

CONECT 31



32

FRONT PANEL MOUNTING

—_
<
218918 e
Industrial BUS-Systems IS 28 3
S = S
M12x1 Industrial Ethernet 100 MHz, D-coding, Dip solder termination, 2-parts 8 3 = s
M12x1 Female socket 4 D 250 4 72 43-01228
angled c SAL-12D-FKW4
with shielding #14 £
x
M12x1 g 207
e 7
= kN &
] i zc %
8 Sealing %E % 1@\5 ol
e i
1 11 Cshroug
T u J_ g
M12x1 Industrial Ethernet 500 MHz, X-coding, Dip solder termination 8 X 48 05 72 43-01847
M12x1 Female socket SAL-12X-FK8.8-X7,2/1
10 GB Ethernet, axial A+
16,5 A
o214
M12x1
Width across flats 15— | % o
Sealing el -
Casing wall LN U ] »
o [
Width across flats14
M12x1 Profibus DP, B-coding, wire termination 4 B 250 4 PVC 22 05 43-01042
M12x1 Female socket :j::;: SAL-12B-FK4.3-0,5
M16x1,5-thread M12x1 Pin 3 W
c n) Pin 4
Width s
flallst17acrossx B -
‘ Crrsrr) 5]
Seahng\ﬁ
M16x1,5
M12x1 Male socket 4 B 250 4 PVC 22 0,5 43-01043
M16x1,5-thread iy |- SAL-12B-F54.3-0,5
' M12x1 Pin 2
Pin 3 I
Pin 4

Width across
flats 17 \

13

20

Nl
/%X\uﬁ?

SONEC




FRONT PANEL MOUNTING —
<
4 1 E
Industrial BUS-Systems s IS
Sl 518 9% §
3 S 2 3
M12x1 Profibus DP, B-coding, wire termination S 3 = =
M12x1 Female socket - 4 B 250 4 PVC 22 0,5 43-01109
In _ » » _
PG9Y-thread e ] SAL-12B-FK4.3-0,5-9
- Pin 3 M
Ty Pin 4
Width across — H ~
flats 17 - -
! ey ) <
Sealing ——-{ ]
PGO
M12x1 Male socket , 4 B 250 4 PVC 22 0,5 43-01110
PG9-thread o SAL-12B-F54.3-0,5-9
Mi12x1 Pin 3
Pin 4
X\;dsﬂ]?cross mﬁ o
= ¥
Seang/ﬁ\U@
PGY
M12x1 Profibus DP, B-coding, Dip solder termination, 2-parts 4 B 250 4 PVC 55 43-01216
M12x1 Female socket SAL-12B-FK4-X5,5
axial E
with shroud B4 %
Installation height 5,5 mm W2 8 E
H £ ‘;
29 Sealing § £ =
4 <]
o = ‘
m
et
 I— o —7—
o o
[aV)
Shroud
M12x1 Male socket 4 B 250 4 PVC 55 43-01218
axial SAL-12B-FS4-X5,5
£
with shroud &
Installation height 5,5 mm %
2E 16
Se
SE 85
£q b
8 N .
0
[w
Shroud

CONEC 33



FRONT PANEL MOUNTING

~
<
Industrial BUS-Systems 2 <
i $ N
3 = 2
M12x1 Profibus DP, B-coding, Dip solder termination, 2-parts 8 3 =
M12x1 Female socket 4 B 250 4 PVC 10 43-01212
axial SAL-12B-FK4-X10
with shielding £
Installation height 10 mm g14 %
M12x1 o s
2 E
- 56
=N
Sealing éé
@ &
&
0 e
~ |
u U T
:’ » \Shroud
o
M12x1 Male socket 4 B 250 4 PVC 10 43-01214
axial SAL-12B-F54-X10
with shielding £
Installation height 10 mm 3
M12x1 W E
3 E
cE
22
Sealing g é
==
= |
o mm °
- I
™ i :U (I
2 u\¥Shmud
M12x1 Female socket 4 B 250 4 PVC 43-01224
angled c SAL-12B-FKW4
B4 &
3
M12x1 £
% e
= | & ]
Eo :
8 Sealing %C,E ;:[
© vl e
o
L1 ; ' 5
“” T | ] Shroud
: +—1 o
[Eix
M12x1 Male socket 4 B 250 4 PVC 43-01226
angled c SAL-12B-FSW4
£
(s}
3
M12x1 o S 207
6 E N
w = g (
< |Sealing TE
— £
v [
\ ] o
i

34 CONEC



FRONT PANEL MOUNTING

—_
<
Industrial BUS-Systems N <
2 S N
S S ®
M12x1 DeviceNet, A-coding, wire termination S 3 =
M12x1 Female socket Pin 1 W 5 A 60 4 PVC 22 05 43-01367
M16x1,5-thread 12 Pin 2 SAL-DN-12-FK5.3-0,5
md Pin 3
" Pin 4 L]
Width across —| Rl ~ Pin 5 I
flats 17 -
CINTTII) 18
_‘ U
M16x1,5
M12x1 CAN-Bus, wire termination 4 A 250 4 PVC 24 05 4301703
M12x1 Female socket g;:;; SAL-CN-12-FK4.41-0,5
M16x1,5-thread M1 Pin 3
; ‘% Pin 41
Width
fats 17 N S
T <
Sealing
o
_, U
16x1,5
M12x1 Male socket , 4 A 250 4 PVC 24 05 43-01704
M16x1,5-thread Mi2x1 pn 1= SAL-CN-12-FS4.41-0,5
in2[1
Pin 3 I
Pin 4[]
Width across @
flats 17 - o
e 1
Sealing/'ﬁﬁ
_] U
M16x1,5

CONEC 35



BACK PANEL MOUNTING

-
<
o S ®
: SO S = 'S
Wire termination S =< =
g S N s
S8 58 ¢ 8¢S
S §] = =
M8x1 Female socket Wizt Fn Tl 3 A 60 3 PVC 24 0,2 42-01147
M12x1-thread Pin3 M SAL-8-FKH3-0,2
L Pin4 W
W“"““m“""“s““\i\%)' Pin1 W 4 A 30 3 PVC24 02 42-01148
. i g o Pin2 [ SAL-8-FKH4-0,2
Sealing Pin3 HH
ﬁ Pin4 HH
gj:; = 5 B 30 3 PVC 24 0,2 42-01149
Pin3 mm SAL-8B-FKH5.1-0,2
- Pin4 HE
Pin5 W
d Pin1 CJ  Pin5mm 8 A 30 15 PVC 26 0,2 42-01150
#15 Pin2 MM  Pin6 SAL-8-FKH8-0,2
Pin3 Pin 7 Il
Pin4 [ Pin 8 N
M8x1 Male socket Vex 3 A 60 3 PVC 24 0,2 42-01034
M8x1-thread Pin1 mm SAL-8-FSH3-0,2
Pin3 I
;ﬁ Pin4 HE
a2}
Width across .
flats 10 Tf' j E f w
" - [ae]
Sealrg~ _NT1] . 4 A 30 3 PVC 24 02 42-01035
CTE ] i SAL-8-FSH4-0,2
Pin3 N
Pin4 HH
&
o b 5 B 30 3 PVC 24 02 42-01102
in1
Pin2 SAL-8B-FSH5.1-0,2
Pin3 HH
Pin4 HH
N Pin5 .
Pin1 mm 4 A 250 4 PVC 24 0,5 43-01003
M12x1 Female socket iz - SAL-12-FKH4-0,5
M16x1,5-thread Pin4 M
Widih across fafs 19 pn) = 5 A 60 4 PVC24 05 43-01004
2|9 Pin3 W SAL-12-FKH5-0,5
« Pin4 I
Seallng—\ = Pin5 M
1
Pin ] 5 A 60 2 PVC 24 05 43-01048
Pin3 SAL-12-FKH5.1-0,5
- Pin4
Pin5 W
Pn1 CJ Pnsmm 8 A 30 2 PVC 24 0,5 43-01005
M16x1,5 Pin2 MM  Pin6 SAL-12-FKH8-0,5
Pin3 MM  Pin7HE !
Pin4 [ Pin 8 N
M12x1 Male socket Pin 1 4 A 250 4 PVC 24 05 43-01012
M16x1,5-thread Mi2xt o SAL-12-FSH4-0,5
i Pin4 HH
Rl .
Width across g;:; ; 5 A 60 4 PVC 24 05 43-01013
flats 19 @ o — SAL-12-FSH5-0,5
) \T\‘—:ﬁ o Pin4 HE
Seallng—\ i Pin5 W
L H Fin] o 5 A 60 2 PVC 24 05 43-01052
Pin3 W SAL-12-FSH5.1-0,5
_ Pin4
Pin5 W
Pn1 CJ Pnsmm 8 A 30 2 PVC 24 05 43-01014
M16x1,5 Pin2 MM  Pin6 SAL-12-FSH8-0,5
Pin3 M  Pin7HE !
Pin4 [ Pin 8 N

6 CONEC




BACK PANEL MOUNTING

Wire termination

Current rating [A]
Wire @ [AWG]
Material wire

M12x1 Female socket Pin1Hm pPn7EE 12 30 1,5 PVC 26 0,5 43-01343

Pin 2 I Pin 8 B
M16x1,5-thread o i SALI2-FKH12-0,5

] Pin4 M  Pin 10
—i@ Pin 5 Pin 11 =
Pin6 ]  Pin 12 N

Width across:
flats 19

18
20,5

Sealing

M16x1,5

M12x1 Male socket pn1mm pn7mm 12 A 30 15 PVC 26 0,5 43-01344

Pin 2 I Pin 8 -12- =
M16x1,5-thread M12x1 e SAL-12-FSH12-0,5
Pin4 M  Pin 10
Pin 5 Pin 11 =
Pin6 ]  Pin 12 N

Width across =\
flats 19

il
Sealing \rﬁjm_:ﬁ

19

21,5

M16x1,5

4 A 250 4 PVC 24 0,5 43-01079
SAL-12-FKH4-0,5-9

M12x1 Female socket Pin 1
Pin 2

M12x1 Pin 3
Pin 4

PG9-thread

Pin 1
Pin 2
Pin 3
Pin 4
Pin 5

5 A 60 4 PVC 24 0,5 43-01081
SAL-12-FKH5-0,5-9

Width across flats 19

18

Sealing ——
I

as =
g

CEr

Pin 1
Pin 2
Pin 3
~ Pin 4
Pin 5

5 A 60 4 PVC 24 0,5 43-01080
SAL-12-FKH5.1-0,5-9

Pin 1
Pae Pin 2
Pin 3
Pin 4

pnsem 8 A 30 2 PVC 24 05 43-01098

Pin 6 SAL-12-FKH8-0,5-9
Pin 7 I

Pin 8

4 A 250 4 PVC 24 0,5 43-01088
SAL-12-FSH4-0,5-9

M12x1 Male socket Pin 1
PG9-thread Mi2xd g:: ;
Pin 4

T
ﬂﬁ Pin 1

Width across
flats 19 Rin2
=
' Pin 4
Sealing — P:: 5
=

5 A 60 4 PVC 24 0,5 43-01090
SAL-12-FSH5-0,5-9

19
21,5

Pin 1
Pin 2
Pin 3
- Pin 4
Pin 5

5 A 60 4 PVC 24 0,5 43-01089
SAL-12-FSH5.1-0,5-9

pinsmm 8 A 30 2 PVC 24 0,5 43-01100

Pin 6 SAL-12-FSH8-0,5-9
Pin 7 I

Pin 8 Il

Pin 1
PG9 Pin 2
Pin 3
Pin 4

ONN0 ENECE *NRCN DECN | ONDD NNRON "BDON §R0n

CONECT 37



38

BACK PANEL MOUNTING

Wire termination

M12x1 Female socket
PG9Y-thread

M12x1
—_—

Width acros:
flats 19

=

Sealing ——__

fiat
an b
L

18

20,5

PG9

pin7mE 12
Pin 8 I
Pin 9 I

Pin 10 I

Pin 11 M

Pin 12 W

Pin 1
Pin 2
Pin3[
Pin 4
Pin 5

Pin 6

Current rating [A]

Wire @ [AWG]

Material wire

0,5

43-01349
SAL-12-FKH12-0,5-9

M12x1 Male socket
PG9-thread

7/8"

778" Male socket
wire @ 0,75 mm2

M12x1

Width across
flats 19

Sealing \I}s

=
R=n

(1
=

o

21,6

PG9

7/8" - UN16

Pin 1
Pin 2
Pin3
Pin 4
Pin 5

Pin 6

Pin 7 I
Pin 8
Pin 9 NN
Pin 10 I
Pin 11 =

Pin 12 I

12 A 30 15 PVC 26

0,5

43-01350
SAL-12-FSH12-0,5-9

Width across
flats 27 \

o
o
Y

Sealing \Cftﬁj;lz%j
(L 1 T ]

26,5

[

2+PE

Pin PE M
Pin2
Pin3 I

300 8

PVC 18

0,5

41-40003
SAL-7/8-FSH2PE-0,5

Pin1 W
Pin2 ]
Pin3 M
Pin4 mE

300 8

PVC 18

0,5

41-40004
SAL-7/8-FSH4-0,5

Pin1 W 4+PE

Pin2 I
Pin PEM

Pin4
Pin5 ]

300 8

PVC 18

0,5

41-40005
SAL-7 7/ 8-FSH4PE-0,5

7/8" Male socket
wire @ 1,5 mm?2

7/8" - UN16

Width across K
flats 27 \

Sealing

|
T
I
1
1
I
1
i
<

225

26,5

2+PE

Pin PE M
Pin2 N
Pin3 HE

300 12

PVC 16

0,5

41-40012
SAL7/8FSH2PE05/150

Pin 1 W
Pin2 ]
Pin3 I
Pin4

300 12

PVC 16

0,5

41-40013
SAL-7/8-FSH4-0,5/ 150

Pin1 HE 4+PE

Pin2 I
Pin PEM

Pin4 W
Pin5 [

300 12

PVC 16

0,5

41-40014
SAL-7/8FSH4PE-Q5/150

SONEC



BACK PANEL MOUNTING

—_
<
gre QI8 ¢
Dip solder termination 8 < ;
S 3 = s
M8x1 Female socket w A 60 3 55 42-01143
M12x1-thread SAL-8-FKH3-P5,5
Installation height 5,5 mm M12x1
M8x1
A 30 3 55 42-01144
' i SAL-8-FKH4-P5,5
Width across flats 14 ’
~ % ]
Sealing = ?
N B 30 3 55 4201145
o . SAL-8B-FKH5-P5,5
A 30 15 55 42-01146
SAL-8-FKH8-P5,5
M8x1 Male socket A 60 3 5.5 42-01107
M8x1-thread SAL-8-FSH3-P5,5
Installation height 5,5 mm
" ‘; A 30 3 55 42-01108
gl ~| ¢ SAL-8-FSH4-P5,5
Width across flats 10 B 30 3 5,5 42-01114
SAL-8B-FSH5.1-P5,5
M12x1 A 250 4 55 43-01026
M12x1 Female socket A SAL-12-FKH4-P5,5
M16x1,5-thread +
Installation height 5,5 mm M12x1
Width across flats 19 ﬁ A 60 4 55 43-01027
®|a SAL-12-FKH5-P5,5
Sealing —_ N
[ \ﬁl‘ ‘\ T I
- IHUJ
o8 ‘ A 30 2 5,5 43-01028
e Il SAL-12-FKH8-P5,5
_ ot
M16x1,5
M12x1 Female socket A A 250 4 12 43-01029
M16x1,5-thread * SAL-12-FKH4-P12
Installation height 12 mm
Mi2x1
Width across flats 19
o| v A 60 4 12 43-01030
Sealing —_ & SAL-12-FKH5-P12
[ \ﬁl‘ ‘\ = I
- IHUJ
goc |
A 30 2 12 43-01031

M16x1,5

SAL-12-FKH8-P12

CONES

39



40

BACK PANEL MOUNTING

-
<
28 Q18 ¢
Dip solder termination g = ;
S s N B
s £ o £
S 3 S s
M12x1 Male socket A* A 250 4 55 43-01032
M16x1,5-thread SAL-12-FSH4-P5,5
Installation height 5,5 mm Mi2x1
Width
fats 16 g
' o| A 60 4 55 43-01033
Sealing - = '
T | ® SAL-12-FSH5-P5,5
[L] L
. LT [l“[fl N
"V osl]
E’E_M. A 30 2 55 43-01034
ce |l SAL-T2-FSH8-P5,5
D1
M16x1.,5
M12x1 Male socket A A 250 4 12 43-01035
M16x1,5-thread * SAL-12-FSH4-P12
Installation height 12 mm M2
Width
s BE A 60 4 12 43-01036
Sealing %9 2 SAL-12-FSH5-P12
o
[L] L
. LT [l“[fl N
o
@08 ‘ A 30 2 12 43-01037
D2 || SAL-12-FSH8-P12
;‘m
M16x1.,5
M12x1 Female socket A A 250 4 515 43-01059
PGY-thread * SAL-12-FKH4-P5,5-9
Installation height 5,5 mm M5
Width
fats 16 [
Sealing ©| un a 60 4 55 43-01061
S | 11 | o
< SAL-12-FKH5-P5,5-9
N
= =1
- Hml
0,8 H
o2 [ A 30 2 55 43-01063
Ton SAL-12-FKH8-P5,5-9
PG9
M12x1 Female socket A 250 4 12 43-01060
PG9-thread A SAL-12-FKH4-P12-9
Installation height 12 mm
M12x1
Width across ﬁ
faw19 A 60 4 12 43-01062
Sealing o
\ﬁﬁ/ E=ho T8 SAL-12-FKH5-P12-9
] [ /w
! —w =)
E?EJTL A 30 2 12 43-01064
o2 Il SAL-12-FKH8-P12-9
D1
PG9

SONEC




BACK PANEL MOUNTING

~—
<
2898 e
Dip solder termination 8 s 3
s 518 o8 3
S IS & 1S
SI& 3| 5|8 =
M12x1 Male socket A A 4 A 250 4 5.5 43-01065
PG9Y-thread ‘ SAL-12-FSH4-P5,5-9
Installation height 5,5 mm M12x1
Width
fafs 19 —aff
Sealing 2= 5 A 60 4 55 43-01069
j:':ﬁﬂ a SAL-12-FSH5-P5,5-9
—1 77|4\u I
. R TTEE
%0,8
o2 ||| 8 A 30 2 55 43-01071
1 SAL-12-FSH8-P5,5-9
PG9
M12x1 Male socket A 4 A 250 4 12 43-01066
PG9Y-thread ‘ SAL-12-FSH4-P12-9
Installation height 12 mm
M12x1
Width
fafs 19 —aff
ol < 5 A 60 4 12 43-01070
Sealing %-:ﬁﬂF ] SAL-12-FSH5-P12-9
—1 77|4\u I
. R TTEE .
po8 N 8 A 30 2 12 43-01072
o2 IIl. e 2 SAL12-FSH8-P12-9
5 e
PG9
M12x1 Dip solder termination, 2-parts 4 A 250 4 55 43-01186
M12x1 Female socket SAL-12-FKH4-X5,5
axial €
) ) @14 &
Installation height 5,5 mm %
Mr2xt & 4 A 250 4 55 43-01187
= 2 E SAL-125-FKH4-X5,5
Sealing / 3 with shielding
@ <
=3 o
B P - 5 A 60 4 5,5 4301188
o T o SAL-12-FKH5-X5,5
P HL&]J__K_\__.
Shroud 5 A 60 4 55 43-01189
SAL-125-FKH5-X5,5
with shielding
M12x1 Female socket 4 A 250 4 10 43-01170
axial E SAL-12-FKH4-X10
Installation height 10 mm g4 z
__Mi2x1 g€
_ | st 4 A 250 4 10 43-01171
Sealing S€ SAL-12S-FKH4-X10
. F with shielding
N I
o L ’ = 5 A 60 4 10 43-01172
L SAL-12-FKH5-XT10
P . - \Shroud
5 A 60 4 10 43-01173
SAL-125-FKH5-X10
with shielding

CSONEC 41



42

BACK PANEL MOUNTING

-
<
2898 e
Dip solder termination g =< é
HH H E
S RS S
M12x1 Dip solder termination, 2-parts 8 3 = =
M12x1 Female socket 8 A 30 2 10 43-01334
axial E SAL-12-FKH8-X10
Installation height 10 mm g1 %
M12x1 .-
gt
== 36
soaing \ = 8 A 30 2 10 43-01335
- R g SAL-125-FKH8-X10
3 'IA/ — | with shielding
o s
! /_\w LT
cc?i . - kkShroud
o
M12x1 Male socket 4 A 250 4 55 43-01190
axial £ SAL-12-FSH4-X5,5
Installation height 5,5 mm %
M12x1 -
- _é’ £ 4 A 250 4 55 43-01191
28 SAL-125-FSH4-X5,5
C . . .
Sealing: / TE with shielding
@ ©
=5 o
faN
;%/ \ 5 A 60 4 55 43-01192
| b
o [ M—m—’—uﬁ b SAL-12-FSH5.1-X5,5
, s
3 Shroud N
o 5 A 60 4 5.5 43-01193
SAL-125-FSH5.1-X5,5
with shielding
M12x1 Male socket £ 4 A 250 4 10 43-01174
axial E SAL-12-FSH4-X10
Installation height 10 mm 3
M12x1 2 E
£ 4 A 250 4 10 43-01175
Sealing £t SAL-125-FSH4-XT0
SC with shielding
© o
& |
5 A 60 4 10 43-01176
N 2 SAL-12-FSH5.1-X10
:* \~Shruud
5 A 60 4 10 43-01177
SAL-125-FSH5.1-X10
with shielding
7/8" Dip solder termination, 2-parts 300 12 10 41-40048
7/8" Female socket SAL-7/8-FSH2PE-X10
axial N
Installation height 10 mm *
7/8" - UN16
Width across S 4 300 12 10 41-40049
flats 27 ! SAL-7/8-FSH2PE-X10
N i 2lo
Sealing\ == | s
T 17
N 4+PE 300 12 10 41-40050
e SAL-7/8-FSHAPE-X10
@1

SONEC




BACK PANEL MOUNTING

Dip solder termination

M12x1 Dip solder termination, angled, 2-parts

M12x1 Female socket
angled

@1

4

M12x1

Sealing

16,8

[aV)

Panel thickness

min 2mm - max 3mm

N
S
[ 5@. W

&

> Coding

250

& Current rating [A]

Wire @ [AWG]

Material wire

43-01196
SAL-12-FKHW4

250

43-01197
SAL-12S-FKHW4
with shielding

60

43-01198
SAL-12-FKHW5

60

43-01199
SAL-125-FKHW5
with shielding

M12x1 Male socket
angled

M12x1 Female socket
axial

17.8

Panel thickness

min 2mm - max 3mm

M12x1 Housing with shielded connection

’W

M16x1,5

M12x1
—_—

Width across

18

flats 19
Sealing

20,5

EXINE

15
19

kShvoud

250

43-01204
SAL-12-FSHW4

250

43-01205
SAL-125-FSHW4
with shielding

60

43-01206
SAL-12-FSHW5.1

60

43-01207
SAL-12S-FSHW5. 1
with shielding

250

6,75

43-01663
SAL-125-FKH4-P6,75

60

6,75

43-01664
SAL-125-FKH5-P6,75

30

6,75

43-01665
SAL-125-FKH8-P6,75

M12x1 Male socket
axial

M16:

x1,5

M12x1

Width across
flats 19

19

Sealing

L/

215

6,75

1

250

6,75

43-02204
SAL-125-FSH4-P6,75

60

6,75

43-02205
SAL-125-FSH5.1-P6,75

CONES

43



44

BACK PANEL MOUNTING

With cable shielded

M12x1 Female socket
M16x1,5-thread

Width across
flats 19

:

M12x1

]

i,

«©

20,5

Sealing \
|

]
[

Width across
flats 19

42,5

M16x1,5

Pin 1
Pin 2
Pin 3
Pin 4

Pin 1
Pin 2
Pin 3
Pin 4

Pin 1
Pin 2
Pin 3
Pin 4

Pin 1
Pin 2
Pin 3
Pin 4

Pin 1
Pin 2
Pin 3
Pin 4

Pin 1
Pin 2
Pin 3
Pin 4

L) ] | L) ] | L) ] | L) ] | L) ] |

L) ] |

> Coding

160

& Current rating [A]

Wire @ [AWG]

Material cable

TPU UL black

0,5

43-02312
SAL-125-FKH4-0,5/G2

160

TPU UL black

43-02365
SAL-125-FKH4-1/G2

160

TPU UL black

43-02366
SAL-125-FKH4-2 /G2

160

PVC UL grey

0,5

43-02313
SAL-125-FKH4-0,5/G3

160

PVC UL grey

43-02367
SAL-125-FKH4-1/G3

160

PVC UL grey

43-02368
SAL-125-FKH4-2/G3

M12x1 Female socket
M16x1,5-thread

Width across
flats 19

i

M12x1

|

T

Sealing
\ T
|

=

el
-

20,5

Width across
flats 19

42,5

M16x1,5

Pin 1
Pin 2
Pin 3
Pin 4
Pin 5

Pin 1
Pin 2
Pin 3
Pin 4
Pin 5

Pin 1
Pin 2
Pin 3
Pin 4
Pin 5

Pin 1
Pin 2
Pin 3
Pin 4
Pin 5

Pin 1
Pin 2
Pin 3
Pin 4
Pin 5

Pin 1
Pin 2
Pin 3
Pin 4
Pin 5

fnEgn fEEOE EEECED EEEQEn Enngn

non

60

TPU UL black

0,5

43-02314
SAL-125-FKH5.1-0,5/G2

60

TPU UL black

43-02369
SAL-12S-FKH5.1-1/G2

60

TPU UL black

43-02370
SAL-125-FKH5.1-2/G2

60

PVC UL grey

o
5]

43-02315
SAL-125-FKH5.1-0,5/G3

60

PVC UL grey

—_

43-02371
SAL-12S-FKH5.1-1/G3

60

PVC UL grey

N

43-02372
SAL-125-FKH5.1-2/G3

SONEC



BACK PANEL MOUNTING

—
S‘ )
With cable shielded S = 2
3 g S 2
S S S
3 S 2 S
8 3 s =
M12x1 Male socket 4 A 160 4 . 05 43-02308
Pin 1 I S
M16x1,5-thread Pin2 % SAL-125-FSH4-0,5/G2
Pin3 HH >
Pin4 HE g
4 A 160 4 . 1 43-02349
A Pin 1 M & _19¢. 3
Ry éﬁ SAL-125-FSH4-1 /G2
Pin3 HH >
Pin4 HE é
M12x1
ot across ﬁiqa . 4 A 160 4 . 2 4302350
o0 pn) = = SAL-125-FSH4-2/G2
Sealing = & Pin3 HE =)
L H Pin4 W 2
T T I Q E
Width across — ]
flats 19
as 4 A 160 4 . 05 4302309
= | Pin1 mm )
L — > SAL-125-FSH4-0,5/G3
M16x1,5 Pin3 HH 3
Pin4 HH E
D
4 A 160 4 .. 1 43-02351
Pin1 )
L — ;» SAL-125-FSH4-1/G3
Pin3 I
Pin4 W s
4 A 160 4 > 2 43-02352
Pin1 I o
PP = SAL-125-FSH4-2/G3
Pin3 M 3
Pin4 HH z
M12x1 Male socket Bl 5 A 60 4 x5 0,5 43-02306
M16x1,5-thread Pin2 3 SAL-125-FSH5.1-0,5/G2
Pin3 W =
Pin4 HH )
Pin5 W B
A
+ I 5 A 60 4 o 1 4302353
Pin2 [ = SAL-125-FSH5.1-1/G2
Pin3 N —
M12x1 P?n4 - g
Width across Fifllof M. =
flats 19 ﬁw
— 22 5 A 60 4 2 43-02354
Sealing ] Pin1 W 3
\JJ | Pin2 [J = SAL-125-FSH5.1-2 /G2
[EADF =S EmEmIA Q Pin3 mE =
Width across/ Pin4 HE =)
flats 19 Pin5 =
-
) 5 A 60 4 0,5 43-02307
Pin1 I Pl
M16x1.5 Pin2 [ S SALI2SFSH5.1-05/G3
Pin3 mm =)
Pin4 HE (@]
D Pin5 W g
Pin1 5 A 60 4 . 1 4302355
Pin2 [J 5} SAL-125-FSH5.1-1/G3
Pin3 W =)
Pin4 HE (@]
Pin5 mm g
Pin1 mm 5 A 60 4 > 2 43:02356
Pin2 [J 5] SAL-125-FSH5.1-2/G3
Pin3 W =)
Pin4 HE (@)
Pin5 ma g

CONECT 45



BACK PANEL MOUNTING

—_
A
e 1 E
Q\ -
4 H E
M12x1 Wire termination N 3 =
M12x1 Female socket 24PE S 630 12 PVC 15 05 43-02414
M16x1,5-thread Pin 1 SAL-12SC-FKH2PE-0,5
Pin 3 EEM
PE M
width across flats 19
‘ 3tPE S 630 12 PVC 15 05 43-02396
sealing N ';:; ; = SAL-125C-FKH3PE-0,5
[ Pin 3 EER
PE ®
M12x1 Male socket 2¢PE S 630 12 PVC 15 0,5 43-02415
M16x1,5-thread Mi2x Pin 1 Wl SAL-12SC-FSH2PE-0,5
Pin 3 EEM
PE ®
width across flats 19 [0}
'w% b . 3+PE S 630 12 PVC 15 05 43-02398
Sea'"g_\rﬁ e Fin | o SAL-12SC-FSH3PE-0,5
Pin 3 EER
PE H
——Ul
M16x1,5
M12x1 Female socket 3 T 63 12 PVC 15 05 43-02416
M16x1,5-thread Wizt Pin 1 0 SAL-12T-FKH3-0,5
— Pin 3
. ) Pin 4 I
width across flats 19 q
i 82 _ 4 T 63 12 PVC 15 05 43-02397
g\u[ L Pin | SAL-12T-FKH4-0,5
(T T T Fin 3|
Pin 4 HE
1
M16‘x1,5
M12x1 Male socket 3 T 63 12 PVC 15 05 43-02417
M16x1,5-thread M12x] Pin 1 SAL-12T-FSH3-0,5
Pin 3 I
Pin 4 HE
width across flats 19
<o &3 . 4 T 63 12 PVC 15 05 43-02399
g\ ] Pin | SALI2T-FSH4-0,5
N —— Pin 3
Pin 4 N
M16x1,5

46

SONEC




BACK PANEL MOUNTING

—_
<
2 S ®
Food & Beverage g = =
NN E
S S o =2
M12x1 Wire termination 8 3 = s
M12x1 Female socket w A 250 4 PVC 24 0,5 43-02328
PG9-thread SAL-FB-12-FKH4-0,5-9
M12x1
Width across ﬂj
flats 19 ol v A 60 4 PVC 24 05 43-02329
e — -l g
) r‘ ’\ﬂ « SAL-FB-12-FKH5-0,5-9
Sealmg_\ ] ‘
[ I
A 30 2 PVC 24 0,5 43-02330
SAL-FB-12-FKH8-0,5-9
PGY
M12x1 Male socket A A 250 4 PVC 24 0,5 43-02331
PG9-thread * A SAL-FB-12-FSH4-0,5-9
M12x1 2 o A
- (('(f AN
’ 3 \\\?‘".})))»
Width across \.\\/)«
flats 19 ol o e — A 60 4 PVC 24 05 4302332
s SAL-FB-12-FSH5-0,5-9
Sealing I m
(NI [T
- A 30 2 PVC 24 0,5 43-02333
SAL-FB-12-FSH8-0,5-9
PGY
M12x1 Dip solder termination A 250 4 55 4301894
M12x1 Female socket A‘ SAL-FB-12-FKH4-P5,5-9
PG9-thread
Installation height 5,5 mm M12x1
Width across
flats 19 i
) A 60 4 55 43-01896
Sealing ©| o
\@1;% ] SALFB-12-FKH5-P5,5-9
N[ ] [
. | 11
IHUHI
70,8 M|
o167 ° A 30 2 55 43-02340
o SAL-FB-12-FKH8-P5,5-9
PGY
M12x1 Female socket A 250 4 12 43-01895
PG9-thread A‘ SAL-FB-12-FKH4-P12-9
Installation height 12 mm
M12x1
Width across
flats 19 T
Sealing ol w A 60 4 12 43-01897
LT 8 SAL-FB-12-FKH5-P12-9
7. 1
- ‘_I*I{[]J\ﬁ :
0,8 H’
ots | ” A 30 2 12 43-02341

SAL-FB-12-FKH8-P12-9

CONET 47



BACK PANEL MOUNTING

<
slel TID o
Food & Beverage 8 < =
> g N 2
3 L [ X
2 o g S = S
M12x1 Dip solder termination S S = s
M12x1 Male socket A 4 A 250 4 5.5 43-02334
PG9-thread % A SAL-FB-12-FSH4-P5,5-9
Installation height 5,5 mm M12x1
SW 1 :Q]Qﬁ
_ o w 5 A 60 4 55 43-02335
O-Ring 5 SAL-FB-12-FSH5-P5,5-9
[ [ [ |
-
_ \ H[ ]J
ﬁjl.ms 8 A 30 2 55 43-02345
o2 || SALFB-12-FSH8-P5,5-9
D1
PGY
M12x1 Male socket A X 4 A 250 4 12 43-02336
PG9-thread ‘ SAL-FB-12-FSH4-P12-9
Installation height 12 mm M12x1
5 A 60 4 12 43-02337
SAL-FB-12-FSH5-P12-9
8 A 30 2 12 43-02346
SAL-FB-12-FSH8-P12-9

48 CONEC



BACK PANEL MOUNTING

-
<
I8 Q5 ¢
High Temperature HT 125°C s K9 ;
NCH N B
3 5 2 3
M12x1 Wire termination 8 3 = =
M12x1 Female socket . 4 A 250 4 | 24 05 43-01121
M16x1,5-thread M12xt pn) = g SAL-HT12-FKH4-0,5
Pin3 HE _8_
Pin4 HE o
Width across flats 19 @ ©
R v
% & b 5 A 60 4 24 0,5 43-01122
. in1 I D
Seaing——_ JLJT| T Pin2 O3 2 SAL-HT-12-FKH5-0,5
[T T 10T Pin3 =
Pin4 HH 8.
Pin5 M (&)
)
o — 5 A 60 4 _ 24 0,5 43-01129
Pin2 g SAL-HT-12-FKH5.1-0,5
M16x1,5 Pin3 HE %‘
Pin4 HE (<%
Pin5 W 8
M12x1 Male socket M2t . 4 A 250 4 _ 24 0,5 43-01131
M16x1,5-thread pn) = é SAL-HT-12-FSH4-0,5
—< P!n3 . _8_
Width across flats 19 Al Fne L1 8
\ .
(IR ] o 5 A 60 4 _ 24 05 4301132
Sealing— T T TIT [ [] Pin2 [ g SAL-HT-12-FSH5-0,5
[T 1T Pin3 HE %
Pin4 I 8.
Pin5 M ()
-
o — 5 A 60 4 ;2 0,5 43-01130
Pin2 1 2 SAL-HT-12-FSH5.1-0,5
M16x1,5 Pin3 =
Pin4 HH Q.
Pin’5 38
, 4 A 250 4 _ 24 0,5 43-01119
M12x1 Female socket M12x1 g::; ; § SAL-HT-12-FKH4-0,5-9
PG9-thread Pin3 M s
Width across @ Pin4 - 8
fats 19 N ol o
e
Se"’"‘”g\l‘A =1 I L 5 A 60 4 _ 24 05 43-01120
| ] Pin2 S SAL-HT-12-FKH5-0,5-9
// I I Pin3 mm =
1 Pin4 HE g.
Pin5 M (&)
o — 5 A 60 4 _ 24 0,5 43-01137
Pin2 s SAL-HT-12-FKH5.1-0,5-9
PG9 Pin3 HH =
Pin4 W S
Pin 5w S
M12x1 Male socket _ 4 A 250 4 _ 24 0,5 43-01133
PG9-thread Mi2x1 Pn) = g SAL-HT-12-FSH4-0,5-9
— Pin3 HE _g_
Pin 4 M
Width across flats 19 ‘\@_u " Lo)
2| v
% I P 5 A 60 4 _ 24 0,5 43-01134
Sealing— 7T Pin2 [ é SAL-HT-12-FSH5-0,5-9
Pin3 HH =
l In Pin4 W g
Pin5 M »)
-
P 5 A 60 4 _ 24 05 43-01138
Pin2 1 2 SAL-HT-12-FSH5.1-0,5-9
Pin3 HH =
PG | Pin4 N a
Pin5 3

CONEC 49



5

BACK PANEL MOUNTING

—_
<
28 Q18 ¢
High Temperature . s =< é
S $ N B
: - N H B E
M12x1 Dip solder termination S S = s
M12x1 Male socket A 250 4 55 43-02316
M16x1,5-thread SAL-HT-12-FSH4-P5,5
Installation height 5,5 mm Mi2x1
Width across
flats 19 \ﬁ‘n\g\ﬁ
Sealing ol u A 60 4 55 43-02317
dﬁ & SAL-HT-12-FSH5.1-P5,5
[ - \I_\L I
-l
EE
%08
D2 H
_ o
M16x1,5
M12x1 Male socket A ‘ 4 A 250 4 12 43-02320
M16x1,5-thread SAL-HT-12-FSH4-P12
Installation height 12 mm M12x1
Width
fats 1o lzg(kﬂﬂ
O-Rin 2| 2 12 43-02321
\ 0 | ® SAL-HT-12-FSH5.1-P12
[ JI_‘( II_\L [
- [ H[ ]J
[y
wosll
D2 _| L
D1
M16x1,5
A
M12x1 Male socket 4 A 250 4 5 43-02318
PG9-thread SAL-HT-12-FSH4-P5,5-9
Installation height 5,5 mm M12x1
Width across\
flats 19 ﬁq\ﬂ\ﬁ
Sealing 2| w s 5 A 60 4 55 43-02319
N | ® SALHTI12-FSH5,1-P5,5:9
T 0
| L |—|+‘ =
=
@0,8
D2
D1
PGS
M12x1 Male socket A 4 A 250 4 12 43-02322
PG9-thread SAL-HT-12-FSH4-P12-9
Installation height 12 mm M12x1
Width across! ﬁ()\ﬂ\ﬁ 3
flats 19
O-Rin o| 5 5 A 60 4 12 43-02323
e | ¢ SALHT-12-FSHS.1-P12-9
1 B |
. BI=R=IR!
\ H“J
el
%08 M
D2 J‘”L
D1
PGY
A

SONEC



BACK PANEL MOUNTING

—
<
gre QI8 ¢
Industrial BUS-Systems s < ;
M12x1 Industrial Ethernet 100 MHz, D-coding, Dip solder termination 8 3 = §
M12x1 Female socket A% 4 D 250 4 55 43-01157
M16x1,5-thread SAL-12D-FKH4.2-P5,5
M12x1
) W s
Width across flats 19
] ®|w 4 D 250 4 12 43-01118
Sealing & SAL-12D-FKH4.2-P12
I
[ 17T
-
i ~ [ HE]J
@08
g18|||
_ o
M16x1,5
M12x1 Female socket A 4 D 250 4 55 43-01236
PGY-thread SAL-12D-FKH4.2-P5,5-9
M12x1
Width across flats 1 L T
9_\ v/
A
: Q| w . 4 D 250 4 12 43-01248
Sealing BN T S
SN | SAL-12D-FKH4.2-P12-9
. f —\%l |
; y
20,8
#is ||
bt
PGO
M12x1 Industrial Ethernet 100 MHz, D-coding, Dip solder termination, 2-parts 4 D 250 4 55 43-01223
M12x1 Female socket SAL-12D-FKH4-X5,5
axial £
with shielding g4 2
M12x1-thread M12x1 -
8 E
43
A== )(c_) Iy
£ o™N
Sealing o=
e [ |
] -
® b
L UIU T
[ N
o «
o
-Shrotid
M12x1 Female socket 4 D 250 4 10 43-01221
axial c SAL-12D-FKH4-X10
with shielding o1 &
M12x1-thread M12x1 - g 16
- - é ‘
23
Sealin é E
« &
3 [
[
0
- [
I 1L
i o - \—Shroud
o

CONET 51



52

BACK PANEL MOUNTING

Industrial BUS-Systems

M12x1 Industrial Ethernet 100 MHz, D-coding, Dip solder termination, 2-parts

M12x1 Female socket
angled

with shielding
M12x1-thread

M12x1 Female socket
axial

with shielded connection
M16x1,5-thread

M12x1 Female socket
M16x1,5-thread

M12x1 Female socket
Profibus DP
M16x1,5-thread

@14
M12x1

Sealing

- |«

min 2mm - max 3mm

Panel thickness

Width across
flats 19

Sealing

M12x1 Industrial Ethernet 100 MHz, D-coding, Dip solder termination

205

4

~

=
0=

Width across
flats 19
Sealing \

Width across
flats 19

Width across flats 19

Sealing

@145

18
205

U= T T T

M16x1,5

v
o
-

M12x1 Profibus DP, B-coding, Dip solder termination

K

M12x1

18
205

M16x1,5

Pin 1
Pin 2
Pin 3
Pin 4

Pin 1
Pin 2
Pin 3
Pin 4

Pin 1
Pin 2
Pin 3
Pin 4

oo 100

100

M12x1 Industrial Ethernet 5100 MHz, D-coding, with cable 4 D 160 4

E ')
> S 2
IR S
B H E
4 D 250 4 4301229
SAL12D-FKHW4
4 D 250 4 675 4301690
SAL-12D-FKH4-P6, 75
< 05 4301660
8 SALID-FKHA2-05/C6
5
>
=
4 D 160 4 c 1 4301661
$  SALI2D-FKHA.2-1/G6
5
>
=
4 D 160 4 c 2 4301662
£ SALI2D-FKH4.2-2/G6
S
o
2
4 B 250 4 55 4301123
SAL-12B-FKH4-P5,5
4 B 250 4 12 4301124

SAL-12B-FKH4-P12

SONEC



BACK PANEL MOUNTING

—
<
2898 e
Industrial BUS-Systems s IS
NN E
3 5 2 3
M12x1 Profibus DP, B-coding, Dip solder termination S 3 = =
M12x1 Male socket w 4 B 250 4 55 43-01125
M16x1,5-thread SAL-12B-FSH4-P5,5
M12x1
‘:jQH A
X\;igtr;gcross 4 B 250 4 12 43-01126
22 SAL-12B-FSH4-P12
Sealing % «
JI I
M16x1,5
M12x1 Female socket A 4 B 250 4 55 43-01249
PG9-thread + SAL-12B-FKH4-P5,5-9
M12x1
A
.
Width across flats 19 ol o 4 B 250 4 12 43-01250
Sealing =" |g SAL-12B-FKH4-P12-9
*1 : ;_|+H H*\_| :
° I
20,
1,6 L
o1
PGY
M12x1 Male socket A‘ 4 B 250 4 55 43-01251
PG9-thread SAL-12B-FSH4-P5,5-9
M12x1
\:%\G\ﬁ A
Width |
st N o| 4 B 250 4 12 43-01252
Sealing\r\ﬁ\’\{:’ﬁ & SAL-12B-FSH4-P12-9
N
43 [ —lf‘ T
S
20,8 ‘
#16
D1
PGY
M12x1 Profibus DF. B-c 4 B 250 4 55 4301217
M12x1 Female socket SAL-12B-FKH4-X5,5
axial B4 €
with shroud 5
M12x1-thread M12x1 g
| §f
Sealing T‘:aé
@ _?; 5
; v |
] -
o [ e
— 73
° Py
o
Shroud

CONECT 53



BACK PANEL MOUNTING

—_
<
28 Q18 ¢
Industrial BUS-Systems s SIS
S = ]
M12x1 Profibus DP, B-coding, Dip solder termination, 2-parts S 3 = =
M12x1 Male socket 4 B 250 4 55 43-01219
axial SAL-12B-FSH4-X5,5
with shroud £
M12x1-thread M12x1 2
g E 16
— e e
(= '<§ £ 8,5
| £ (:
o Sealing “) g-é
& | o
]
© Hﬂm—#ﬁ
— 10—
> &
faV)
Shroud
M12x1 Female socket 4 B 250 4 10 43-01213
axial SAL-12B-FKH4-X10
with shroud g4 £
M12x1-thread Yo 3
£
’a s
- O-Ring s
3 . [
U\ IUI ‘LU.I
g > _\Shroud
M12x1 Male socket 4 B 250 4 10 43-01215
axial E SAL-12B-FSH4-X10
with shroud o
©
M12x1-thread M12xd . E 16
3
T § 5 65 2
i £¢
% 3¢ :
© S & o
& i | "
NP I
0 2
r
o
s \Shroud
M12x1 Female socket 4 B 250 4 43-01225
angled SAL-12B-FKHW4
with shielding c
M12x1-thread @14 8
x 207
M12x1 g E =
8%
cE
= CE
£¢ =
« | Sealing E’é =
€l . @ TN 2| 2
| l J N
f == ~
‘ Q:‘ - < ® \—Shroud

54 CONEC



BACK PANEL MOUNTING

—_
<
gre QI8 ¢
Industrial BUS-Systems s IS
HH H E
S RS k]
M12x1 Profibus DP, B-coding, Dip solder termination, 2-parts S 3 = =
M12x1 Male socket 4 B 250 4 43-01227
angled SAL-12B-FSHW4
with shielding £
M12x1-thread o
M12x1 <
o 9 E 207
8%
§ E 17
o E
£ o
w [Sealing o é o —
~ vl
R _— o ¢
[
1 _J_l 1 -Shroud
\ 1 1 o
~
Il
M12x1 Profibus DP, B-coding, Dip solder termination 4 B 250 4 675 4301689
M12x1 Female socket A‘ SAL-12B-FKH4-P6,75
with shielded connection
M16x1,5-thread Mi6x1
M12x1 A
Width across ﬁ
flats 19 == 29
Sealing :@ &
_‘I | I |
- WA
$0.8 @
o
$14,5
M12x1 Male socket A 4 B 250 4 6,75 43-02207
with shielded connection ‘ SAL-12B-FSH4-P6,75
M16x1,5-thread
M16x1,5
M12x1

19

Width across
flats19 \

Sealin
ey m
]

=
21,5

L1

Sy

%)
~
<

M12x1 Profibus DP, B-coding, with cable 4 B 160 4 05 43-01648

B
M12x1 Female socket " Pin 2 2 SAL-12B-FKH4.1-0,5/G4
M16x]1,5-thread Lﬂ Pin 4 B E"
Width across E
flats 19 % o| @
=1
Seal ) 139
o A © 4 B 160 4 g 1 43-01649
N —_
Width across — v Pin 2 H -% SAL-12B-FKH4.1-1/G4
flats 19 Pin 4 H 2
- (S}
g
Mi6x1,5
D 4 B 160 4 w 2 43-01650
B - - -
Pin 2 = SAL-12B-FKH4.1-2/ G4
Pin 4 I 3
e

CONET 55



56

BACK PANEL MOUNTING

= =
Sle TS s
Industrial BUS-Systems S B
28 5 315 5
— 2 H B
M12x1 Profibus DP, B-coding, with cable S 6] S s
M12x1 Female socket B 160 4 B 0,5 43-01654
M16x1,5-thread M12x1 Pin 2 -2 SAL-12B-FKH4.1-0,5/G5
-/ Pin 4 I 2
Width across 2
flats 19 % ol o (=
e <o
Sealing «
i o B 160 4 . 1 4301655
Width across—" ] 1 | N S SALI2BFKHAI1/G5
flats 19 | Pin 2 5
Pin 4 I =)
g
M16x1,5
D B 160 4 = 2 43-01656
S -12B- B
e = SAL-12B-FKH4.1-2 /G5
Pin 4 I =)
2
M12x1 Male socket B 160 4 5 05 43-01651
M16x1,5-thread Pin 2 E -2 SAL-12B-FSHA4.1-0,5/G4
Pin 4 I 5
£
B 160 4 s 1 43-01652
e % SAL-12B-FSHA4.1-1 /G4
Pin 4 W =
£
__Mi2x
Width across B 160 4 B 2 43-01653
o - - -
f'a‘5l19 w ol o = SAL-12B-FSH4.1-2/ G4
Sealing & == Pin 4 HE 3
" =
[ T ITT g
Width across
flats 19
B 160 4 = 05 43-01657
g —_
e % SAL-12B-FSH4.1-0,5/G5
M16x1,5 Pin 4 I 2
=)}
D £
B 160 4 = 1 43-01658
e % SAL-12B-FSH4.1-1/G5
Pin 4 I =)
2
B 160 4 5 2 43-01659
o -12B- B
e = SAL-12B-FSH4.1-2/G5
Pin 4 I =)
2
M12x1 DeviceNet, wire termination
Bl A 60 4 PVC 24 05 43-02246
M12x1 Female socket M12x1 Pin2 H SAL-DN-12-FKH5.3-0,5
M16x]1,5-thread o El
L % Pin5 W
Width across:
flats 19 ©| 0
% |
Sealing J_‘ T T |_L
[1] [T
-1
M16x1,5

SONEC




BACK PANEL MOUNTING

Industrial BUS-Systems

Wire @ [AWG]
Material wire

M12x1 DeviceNet, A-coding, wire termination

& Current rating [A]

> Coding

M12x1 Male socket Pin1 EE (Shroud) 5 60 PVC 24 05 43-01368
M16x1,5-thread Pin2 M (+) SAL-DN-12-FSH5.3-0,5
Mi2x1 Pin3 M ()

Pin 4 [1(CAN H)
Width across
flats 19 %
Sealing I

19

21,5

Pin5 NN (CAN L)
\
L1

I

M16x1,5

M12x1 DeviceNet, A-coding, with cable
Pin 1 8 (Shroud) 5 A 60 4
M12x1 Female socket Pin2 M (+)

M16x1,5-thread Widlh across pn3 ;fc) -

flats 19 Pin5 NN (CAN L)
Sealing\ o el S

T TTIT Pin 1 8 (Shroud)
Width across Pin 2 M (+)
flats 19 Pin3 HE ()
Pin 4 C_1(CAN H)
o Pin 5 M (CAN L)

0,5 43-01642
SAL-DN-12-FKH5.3-0,5/GJ

TPU UL violet

20,5

1 43-01643
SAL-DN-12-FKH5.3-1/GJ

42,5

TPU UL violet

M16x1,5

2 43-01644
SAL-DN-12-FKH5.3-2/GJ

Pin 1 W8 (Shroud)
Pin2 M (+)
Pin3 N ()
Pin4 [1(CAN H)
Pin'5 N (CAN L)

D

TPU UL violet

0,5 43-01645

M12x1 Male socket Pin 1 M (Shroud) K SAL-DN-12-FSH5.3-05/GJ

M16x1,5-thread _ M2 Pin2 M (+)

. Pin3 W ()

md;'} ;‘C’OSS Pin4 [J(CAN H)
Pin5 M (CAN L)

TPU UL violet

21,5

Sealing —\ﬁﬁﬁ T

! g Pin 1 M (Shroud)
Width across Pin2 I (+)
flats 19 Pin3 M (-)
Pin 4 C_1(CAN H)
Pin 5 M (CAN L)

i

1 43-01646
SAL-DN-12-FSH5.3-1/GJ

TPU UL violet

M16x1,5
D Pin 1 M (Shroud) 5 A 60 4
Pin2 W (+)

Pin3 W (-

Pin4 [1(CAN H)

Pin5 N (CAN L)

2 43-01647
SAL-DN-12-FSH5.3-2/GJ

TPU UL violet

M12x1 CAN-Bus, wire termination 4 A 250 4 PVC 24 05 43-02347
M12x1 Female socket pn] = SAL-CN-12-FKHA.41-0,5
M16x1,5-thread Pin3 mml

M12x1 Pin4 [

—

Width across flats 19

20,5

Sealing T T T4
[ I

M16x1,5

CONEC 57



BACK PANEL MOUNTING

—
<
Sie 918 ¢
Industrial BUS-Systems IS =8 3
= s}
M12x1 CAN-Bus, wire termination N 3 = =
M12x1 Male socket . 4 A 250 4 PVC 24 0,5 43-02348
M16x1,5-thread pn) = SAL-CN-12-FSH441-0,5
M12x1 Pin3 W
Pin4 [
=
Width across
flats 19 \r <) [t°]
&
[L] TT [0
[11 [T
-
M16x1,5

58 CONEC



PROTECTION CAPS

T
Z,
) <5}
S s
S 2
S g 3
Male/Female S g g
S S
3 S £
M8x1 Protection cap PAGF KFM -30°CIP67 04 Male connector
; &1 up to .
Plastic black ot 4211774
ﬁl.’% Diiting
¥ T
% i PAGF KFM -30°CIP67 0,4 Female connector
'_I_\ | i up to N
;_ I ] - _‘,_//" i 85°C 42-11772
i L
w |
< - 1 7/ = . ® 3
H Mex1 PAGF TPU-V KFM -30°CIP67 0,4 Male connector with loop
i ] ' @12 up to N
@58 —_— 85°C 42-11775
Mex1
PAGF TPU-V KFM -30°CIP67 0,4  Female connector with loop
up to ;
85eC 4211773
M12x1 PAGF KFM -30°CIP67 0,6 Male connector
M12x1 Protection cap i 4316213
Plastic black 85°C
@45
PAGF KFM -30°CIP67 0,6 Female connector
up to g
85°C 43-16211

Y,

7/8"

7/8" Protection cap
Plastic black

%

14

7.85

B25,6
T = 9
I I I
o (| o
1 (R ! '
- @145
o #18.5
16UN

PAGF TPU-V KFM -30°C IP67

up to
85°C

135
>

R
B

N

7IE" - 16UN
@e8e

06

Male connector with loop
43-16214

= PAGFTPU-V KFM -30°CIP67 0,6 Female connector with loop

up to K
85°C 43-16212

PAGF KFM -30°C P67 0,8 Male connector
up to N
85°C 41-01478

PAGF KFM -30°C P67 0,8 Female connector
up to i
i 41-01476

PAGF TPU-V KFM -30°C IP67
up to
85°C

08

Male connector with loop
41-01479

PAGF TPU-V KFM -30°C IP67
up to
85°C

08

Female connector with loop
41-01477

CONEC 5



SAL M8x1/ M12x1 PANEL PLUG MALE/ FEMALE

Nomenclature

SIARLY-J8] J-JEQSITivMI3]-|P

=)

60 CONEC



SAL M8x1/ M12x1 PANEL PLUG MALE/ FEMALE

Productspecification
]
Contact CuZzn
Contact plating Nickel-plated, gold-plated
Contact carrier PA GF, UL 94 / PA 12 transparent UL
Sealing NBR
Socket housing CuZn, nickel-plated
Shielding CuZn, nickel-plated

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101 / IEC 61076-2-104
Current rating IEC 61076-2-101 / IEC 61076-2-104
Insulation resistance IEC 60512

Pollution degree IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Technical subject to change without notice.

CONET 61



PANEL PLUG MALE

62

-
<
Solder version S =
m 4~
4 H E
§1& S8 =
M8x1 Panel plug male 60 3 42-01004
plastic, graphite grey A ‘ SAL-8-ESP3-L
snap-in A
?6,9
- m—d
5,8 t
2 30 3 42-01006
- SAL-8-ESP4-L
i A
- T
) U 1] @07
?5.8
M8x1 Panel plug male 60 3 42-01005
plastic transparent A * SAL-8-ESTP3-L
snap-in A
#59 g 4
?6,5
758 m
1)@3 4 30 3 42-01007
% SAL-8-ESTP4-L
- (
s [T
' @0,7
258
M8x1 Panel plug male A 60 3 42-01002
semimetal * SAL-8-ESTM3-L
snap-in g6 _
265 m
@58 t
] 113
. 3 30 3 42-01003
;(I SAL-8-ESTM4-L
L
0,7
25,8
M8x1 Panel plug male A * 60 3 42-01008
fullmetal SAL-8-ESTVM3-L
screw/snap-in Mex1 A
?6,9
@65
#5,8
- 30 3 42-01009
SAL-8-ESTVMA4-L

14

|

=

2,5

[T

$0,7
5.8

SONEC




PANEL PLUG MALE

<
[e)) =~
RS Q
. . S =
Soldering version S =
3 S )
= QU
3 S S
S8 3 S
M12x1 Panel plug male A 4 250 4 43-01336
plastic black A + 4pol SAL-12-ES4-L
2 1
$10,5
f$ 3 4
5 60 4 43-01337
795 QE f A SAL-12-ES5.1-L
79,4 ; Spol
o
5 - 2 1
| A 3@5 8 30 2 43-01637
@1.2 4 i
: SAL-12-ES8-L
9,6
M12x1 Panel plug male A A 4 250 4 43-01338
plastic black pal SAL-12-ESO4-L
with O-ring
@10,5
9% 1, QE f 5 60 4 4301339
go4 > A SAL-12-ESO5. 1-L
W
p1.2 8 30 2 43.01638
39,6 SAL-12-ESO8-L
M12x1 Panel plug male 4 250 4 43-01340
plastic transparent A SAL-12-ESTO4-L
with gap for LED * with O-ring
@105 l A
e l= Vo~ ? . 4 250 4 43-01682
po4 > SAL-12-EST4-L
© 3
4
Seali /r——~
optzilolrr:gl l (fﬂj
@1,2
?9,6

CONEC 63



PANEL PLUG MALE

64

<
Dip solder S =
m 4~
N E
S 3 =
M8x1 Panel plug male A+ 60 3 42-01012
plastic graphit grey SAL-8-ESP3-P
snap-in g6
76,5
25,8
30 3 42-01014
—% SALS-ESP4-P
NS
a
HLJ%
il
258
M8x1 Panel plug male A‘ 60 3 4201013
plastic transparent SAL-8-ESTP3-P
snap-in #6.9
6,5
?5.8
30 3 42-01015
SAL-8-ESTP4-P
%ﬂ
?5.8
M8x1 Panel plug male A * 60 3 42-01010
semimetal SAL-8-ESTM3-P
snap-in 6.9
?6,5
5.8
30 3 42-01011
;(I SAL-8-ESTMA4-P
B1 |
$5.8
A
M8x1 Panel plug male { 60 3 42-01016
fullmetal SAL-8-ESTVM3-P
screw./snap-in Wt
?6.9
?6,5
35,8
30 3 42-01017
SAL-8-ESTVM4-P

14

I
pem

2,5

SONEC




PANEL PLUG MALE/ FEMALE

<
Dip solder S <
2 5 S
3 S ®
N 8 s
M8x1 Panel plug male M8x1 3 60 3 42-01099
fullmetall 6.9 SAL-8-ESTVM3-P6
screw/snap-in 65
short version 758
nI iy
~
3 [
i
© |
|
|
|
a1
?58
M8x1 Panel plug female 4 30 3 42-01038
shielded SAL-8S-EKVM4-P
29.8
L]
1
|
& =® |
|
in
I
20 4 250 4 43-01683
M12x1 Panel plug male w SAL-12-ES4-P
plastic black
10,5
k== 5 60 4 43-01688
o e, SAL-12-ES5.1-P
mu A
{DHIH B05 2 8 30 2 43-01635
: SAL-12-ES8-P
B1.4
9,6
M12x1 Panel plug male 4 250 4 43-01699
plastic black w SAL-12-ESO4-P
with O-ring
$10,5
=
PR LT 5 60 4 43-01700
gos 7l SAL-12-ES05.1-P
{DH"} T A 8 30 2 43-01701
14 ; 2 SAL12-ESO8-P
9.6 5 8
6 7

CONET 65



6

PANEL PLUG MALE

Dip solder

M12x1 Panel plug male
plastic transparent
with gap for LED

Y

@105

$9,55 0

—

@94

Sealing — |
optional

15

3.5

22

@0,6

e

_
<
3 )
% L
= e
) IS S
§) 6] =
250 4 43-01636
SAL-12-EST4-P
250 4 43-01681

SAL-12-ESTO4-P

SONEC




NOTES

CONET 67



SAL M12x1 Sockets SMT

Nomenclature

SIARLYE-R1d20 - JFIKE | J41-§XJ9)/ 1144 /JSMT|

=]

68 CONEC



SAL M12x1 SockeTrs SMT

Productspecification
]
Contact CuZzn/CuSn
Contact plating Ni, Au gal.
Contact carrier LCP GF
Soldering sheet CuZn, Ni Sn
Socket housing CuZn, Ni
Sealing FPM
Shielding CuSn/Ni sel. Sn

Information on the following pages are basing on below mentioned IWEC-standards.

Rated voltage IEC 61076-2-101
Current rating IEC 61076-2-101
Insulation resistance IEC 60512
Pollution degree IEC 60664-1
Mating cycles IEC 60512-9a

Recommended torque for housing: 0,8-1 Nm
Technical subject to change without notice.

CONET 69



70

Sockets SMT

Insulation Body

M12x1 Female socket

M12x1 Insulation Body
Female

#8240 15

0
02

177

0
8570,

+0
3l

o 5pol/pos,

_(/-- Sealing

Sealing surface

45

1,3

B1%00s B1,4%0 05

9to1

> Coding

250

& Curent rating [A]

Wire @ [AWG]

Tape & Reel: 43-01848TR
Bulk material: 43-01848
SAL-12-1K4-X9/SMT

60

Tape & Reel: 43-01849TR
Bulk material: 43-01849
SAL-12-IK5-X9/SMT

30

Tape & Reel: 43-01965TR
Bulk material: 43-01965
SAL-12-1K8-X9/SMT

M12x1 Insulation Body
Female
with shielding

+0
-02

17

?8,273 15

45

250

Tape & Reel: 43-01850TR
Bulk material: 43-01850
SAL-125-1K4-X9/SMT

60

Tape & Reel: 43-01851TR
Bulk material: 43-01851
SAL-125-1K5-X9/SMT

30

Tape & Reel: 43-02115TR
Bulk material: 43-02115
SAL-125-IK8-X9./SMT

250

Tape & Reel: 43-02032TR
Bulk material: 43-02032
SAL-12B-1K4-X9/SMT

60

Tape & Reel: 43-02033TR
Bulk material: 43-02033
SAL-12B-IK5-X9/SMT

250

Tape & Reel: 43-02034TR
Bulk material: 43-02034
SAL-12D-IK4-X9./SMT

CSONEC




Sockets SMT

Insulation Body

M12x1 Male socket

M12x1 Insulation Body
Male

21,4

3,5

13

J .

9to01

| @170 0s ] 14 %50

> Coding

250

Current rating [A]

Wire @ [AWG]

Tape & Reel: 43-02026TR
Bulk material: 43-02026
SAL-12-1S4-X9/SMT

60

Tape & Reel: 43-02027TR
Bulk material: 43-02027
SAL-12-1S5-X9./SMT

30

Tape & Reel: 43-02028TR
Bulk material: 43-02028
SAL-12-1S8-X9/SMT

M12x1 Insulation Body
Male
with shielding

21,44,

1.3

L]

| B1750s

¢1 .4 *g 05

g0

Spolipos [

8polpos

250

Tape & Reel: 43-02118TR
Bulk material: 43-02118
SAL-125-154-X9/SMT

60

Tape & Reel: 43-02119TR
Bulk material: 43-02119
SAL-125-155-X9/SMT

30

Tape & Reel: 43-02120TR
Bulk material: 43-02120
SAL-125-158-X9./SMT

250

Tape & Reel: 43-02030TR
Bulk material: 43-02030
SAL-12B-154-X9/SMT

60

Tape & Reel: 43-02031TR
Bulk material: 43-02031
SAL-12B-1S5-X9/SMT

SONES 71



Sockets SMT

72

<
Front panel mounting Installation height 9 mm 8 <
U\ -
M12x1 Female socket S S =
M12x1 Female socket A 250 4 Tape & Reel: 43-01852TR
Bulk material: 43-01852
% SAL-12-FK4-X9./ 14./SMT
82Tg,15
rm—
i
@ L A 60 4 Tape & Reel: 43-01853TR
37 ‘:'i\ Bulk material: 43-01853
| scaing M14x1 SAL-12-FK5-X9/ 14./SMT
. fl21 6 9148 A 30 2 Tape & Reel: 43-02116TR
- o Bulk material: 43-02116
SAL-12-FK8-X9/ 14./SMT
M12x1 Female socket A 250 4 Tape & Reel: 43-01854TR
with shielding Bulk material: 43-01854
MHoxt SAL-125-FK4-X9./ 14./SMT,
28,2 Tgms
o e———
T
o3 A 60 4 Tape & Reel: 43-01855TR
e Bulk material: 43-01855
S SAL-125-FK5-X9./ 14./SMT|
Sealing :Hj@ Miaxi
o
- . A 30 2 Tape & Reel: 43-02117TR

{21 14 %505

9o

Bulk material: 43-02117
SAL-125-FK8-X9/ 14/ SMT

SONEC



Sockets SMT

t panel mounting Installation height 9 mm

Wire @ [AWG]

M12x1 Male socket

& Curent rating [A]

> Coding

250 9 Tape & Reel: 43-02109TR
Bulk material: 43-02109

SAL-12-F54-X9./ 14/ SMT

M12x1 Male socket 4

M12x1

Spal/pos S |

5 A 60 4 9 Tape & Reel: 43-02110TR
Bulk material: 43-02110
SAL-12-FS5-X9./ 14/SMT

22

Sealing

[ 17005

9001

#1415 8 A 30 2 9  Tape & Reel: 43-02111TR
Bulk material: 43-02111

SAL-12-FS8-X9/14/SMT

8popos B

13

M12x1 Male socket 4 A 250 4 9 Tape & Reel: 43-02112TR
Bulk material: 43-02112
SAL-125-FS4-X9/ 14/ SMT]

with shielding
M12x1

Spolipos ™

5 A 60 4 9 Tape & Reel: 43-02113TR
Bulk material: 43-02113
SAL-125-FS5-X9./ 14/ SMT

)

Sealing M14x1
=

wl ~
o

8polipos

8 A 30 2 9 Tape & Reel: 43-02114TR
Bulk material: 43-02114
SAL-125-FS8-X9/ 14/ SMT

«@

CONEC 73



Sockets SMT

t panel mounting Installation height 13 mm

Wire @ [AWG]

M12x1 Female socket

& Curent rating [A]

> Coding

250 13 Tape & Reel: 43-02103TR
Bulk material: 43-02103

SAL-12-FK4-X13/ 14/ SMT

M12x1 Female socket 4

8,270 45
——
T T 1
®

‘ M14x1
~

5 A 60 4 13 Tape & Reel: 43-02104TR

Bulk material: 43-02104
SAL-12-FK5-X13/14/SMT

0
02

174

8 A 30 2 13 Tape & Reel: 43-02105TR

Bulk material: 43-02105
SAL-12-FK8-X13/14/SMT

M12x1 Female socket 4 A 250 4 13 Tape & Reel: 43-02106TR

Bulk material: 43-02106
SAL-125-FK4-X13./ 14/ SMT

with shielding

Mi2x1
28,275 45

5 A 60 4 13 Tape & Reel: 43-02107TR

Bulk material: 43-02107
SAL-125-FK5-X13/ 14/SMT

40
‘02

17

I
IO wo L
810 [ 21478 |

ey s |

1ld

8 A 30 2 13 Tape & Reel: 43-02108TR

Bulk material: 43-02108
SAL-125-FK8-X13/ 14/SMT

74 CONEC



Sockets SMT

—
<
Mounting Hardware S <
2 5 S
bS] £ o
S 3 s
Housing Female 9 43-02129
Female socket M14x1
Installation height 9 mm
M12x1
Sealing l mi
M14x1
Housing Female 13 43-02130
Female socket M14x1
Installation height 13 mm
M12x1
Sealing =4
§ ~
?12,7
M14x1
Housing Male 9 43-02131
Male socket M14x1
Installation height 9 mm M12x1
Sealing% ‘ ©
M14x1
Hexagon nut 43-02132
M14x1
C o Ty N o

CONET 75



PIN ASSIGNMENT

4@ 4q> 03
O-+0O {O+6 fohle)
311 | |
\ \ 400z
Female socket Male socket Female socket Male socket Female socket Male socket Female socket Male socket
3-pos. 3-pos. 4-pos. 4-pos. 5-pos. 5-pos. 8-pos. 8-pos.
Pin 1 mm Pin 1 mm Pin 1 mm Pin 1
Pin 3 mm Pin 2 Pin 2 Pin 2 mm
Pin 4 mm Pin 3 mm Pin 3 mm Pin 3 mm
Pin 4 mm Pin 4 mm Pin 4
Pin 5 mm Pin 5 mm
Pin 6
Pin 7 mm
Pin 8 mm

Female socket Male socket Female socket Male socket Female socket Male socket Female socket Male socket
3-pos. 3-pos. 4-pos. 4-pos. 5-pos. 5-pos. 8-pos. 8-pos.
A-Coding A-Coding A-Coding A-Coding A-Coding A-Coding A-Coding A-Coding
4-pos. 5-pos.
Pin 1 mm Pin 1 mm Pin 1 mm Pin 13
Pin 3 mm Pin 2 Pin 2 Pin 2 mm
Pin 4 mm Pin 3 mm Pin 3 mm Pin 3 mm
Pin 4 mm Pin 4 mm Pin 4
Pin5m Pin 5 mm
Pin 6
4.41-pos. 5.1-pos. Pin 7 mm
Pin 1 mm Pin 1 mm Pin 8 mm
Pin 2 Pin 2
Pin 3 mm Pin 3 mm
Pin 4 Pin 4 mm
Pin 4 mm

5.3 (DeviceNet)
Pin 1T mm
Pin 2 mm
Pin 3 mm
Pin 4
Pin 5 mm

Female socket Male socket
12-pos. 12-pos.
A-Coding A-Coding

Pin 1
Pin 2
Pin 3
Pin 4
Pin 5
Pin 6
Pin 7
Pin 8
Pin 9
Pin 10
Pin 11
Pin 12

ion

pTannng

76 CONEC



PIN ASSIGNMENT

40 |

Female socket Male socket Female socket Male socket Female socket Male socket Female socket Male socket
4-pos. 4-pos. 4-pos. 4-pos. 2+PE-pos. 2+PE-pos. 3+PE-pos. 3+PE 4-pos.
B-Coding B-Coding D-Coding D-Coding S-Coding S-Coding S-Coding S-Coding
4.1-pos. 4.2-pos. 2+PE 3+PE
Pin 1 mm Pin 13 Pin 1 mm Pin 1 mm
Pin 2 mm Pin 2 Pin 3 mm Pin 2 mm
Pin 3 mm Pin 3 mm PE m Pin 3 mm
Pin 4 mm Pin 4 mm PE =
4.3-pos.
Pin 1 mm
Pin 3 mm
"5 5 450

Female socket Male socket Female socket Male socket Female socket
3-pos. 3-pos. 4-pos. 4-pos. X-Coding
T-Coding T-Coding T-Coding T-Coding
3-pos. 4-pos.
Pin 1 mm Pin 1 mm
Pin 3 mm Pin 23
Pin 4 mm Pin 3 mm
Pin 4 mm

i
|
PE

PE

Female socket Male socket Female socket Male socket Female socket Male socket
2+PE-pos. 2+PE-pos. 4-pos. 4-pos. 4+PE-pos. 4+PE-pos.
2+PE 4-pos. 4+PE
PE m Pin 1 mm Pin 1 mm
Pin 2 mm Pin 23 Pin 2 mm
Pin 3 mm Pin 3 mm PE m

Pin 4 mm Pin 4 mm

Pin 53

CONET 77



7

PCB-LayouTt

Female socket
3-pos.

3,5
To]
]
~y O AN

1,45

Female socket
5-pos.

Male socket
3-pos.

1,35

1,45

Male socket
5-pos.

Female socket Male socket
4-, 5-pos. 4-, 5-pos.
A/B/D-Coding A/B/D-Coding
5,6
2,8
3
= Sy N
— 4 5 N
‘/" | p\ L\
AR L\e

@10
-2,
@’\‘
a
T»

Female socket
8-pos.
X-Coding

SONEC

1,85

Female socket
4-pos.

i o
&5

Female socket
8-pos.

3

\
P

/

[
/' Q
N

©
L g
t

}/

o
-Fo—@
\?-@J

Female socket
8-pos.
A-Coding

Male socket
4-pos.

Male socket
8-pos.
A-Coding



PCB-LayouTt

95
s
o

950

~
oy
>
/'%
3
~
~N
Z
fom
~

/ TN e
e ; O of
AN T s N 3y T it 3
Gt e T LN R T el T
Y W er,‘\?‘ ( a ~ g W a,'g i ( a w /_
H & | H—=%__ | -
TR Holefor Hole for
10 [~—optional 10 [~ optional Hole for Hole for
shielding shielding optional optional
shielding shielding
Female socket Male socket Female socket Male socket
4-, 5-pos. 4-, 5-pos. 4-, 5-pos. 4-, 5-pos.
A/B/D-Coding A/B/D-Coding A/B/D-Coding A/B/D-Coding
Dimension X5,5 Dimension X5,5 Dimension X10 Dimension X10

77

Hole for
optional
shielding

Female socket
8-pos.
A-Coding
Dimension X10

Panel

7

L Hole for J Hale for

26

3 2~ — optional - 2 L5 — optional
IR f shielding L Msﬁ\e\dmg
> - ) > | _Z g
! i DR 22, A RZe

X, & I E I
. | DT emEime
— 2 H -

Female socket angled Male socket angled
4-, 5-pos. 4-, 5-pos.
A/B/D-Coding A/B/D-Coding

CONEC 79



PCB-LayouTt

Female socket
4-, 5-pos.
A/B/D-Coding

Female socket
2+PE

Female socket
4+PE

20,25+01

48

Male socket
2+PE
Dimension X10

80 CONEC

Male socket
4-, 5-pos.
A/B/D-Coding

Male socket
2+PE

Male socket

4+PE

20,2501

Male socket

4-pos.
Dimension X10

AD
<@
P ANy *,
2 . D,
N :
S NOAN
/’1\\4\*} 3:(\/\\
| 18} 2l onon
Wl | Y P
NCer
X N
N ot
\\~\7,//
255
@132

Female socket
8-pos.
A-Coding

Female socket
4-pos.

Male socket
4-pos.

20,25£0,1

Male socket
4+PE
Dimension X10




PANEL cuT ouTt

Mounting thread M8x0,5 Mounting thread M12x]1 Panel plug male

82" 0,1
+0,
’ @ 12,1
AR %
+N_ +1_
\ X | /=
—
Min. wall thickness 1,5mm, Min. wall thickness 1,5 mm,
alternative panel cut out d=8,2 alternative panel cut out d=12,1
Mounting thread M12x1 Mounting thread PG9 Mounting thread M16x1,5
AR ANAR SR
- o) L)
3N . N TN
5 ~— —
12,1*01 15,31 16,10
Min. wall thickness 1,5 mm, Min. wall thickness 1,5 mm, Min. wall thickness 1,5 mm,
alternative panel cut out d=12,1 alternative panel cut out d=15,3 alternative panel cut out d=16,1
X-Coding Panel plug male
M12x1
1,2+0,04 x45° - -
—_—
Y i !
T
I !
| !
o) ) |
x @12,2+0,05 !
® - - |
E __,/'\_i/_\L_
+0,015
?9,5%%
Mounting thread PG11 Mounting thread PG13,5
g S
(LG, ARy
~ o)
+0,1 +0,1
18,8

Min. wall thickness 2,5 mm,

Min. wall thickness 2,5 mm,
alternative panel cut out d=18,8

alternative panel cut out d=20,6

CONET 81



SMT DiMENSION DRAWINGS & LAYOUT PROPOSAL

135 135
_/\;/X
Layout | 45 A B g@%“j“g AL ﬁ%wﬁ"
ayout proposa » 9-pOS. 5pol/pos _H @ @ YE TR 8pol/pos _H RS
13,3
RIS 2N )
By
$8,270 15 $9,45
7 o
i ¢
= i
by 3
-~ O-Ring/
Sealing
© Dichtflache/
X Sealing surface
]
B1100s P14 t3.05 o

15 15
13,5 135
— "
Hlas+a-H] =
Layout proposal 4-, 5-pos c n P@f\% ALl 2 ¢ Ih | 3| o
y b g 5polipos 1B kié ® @ : Rlgl spolipos | [IP g~ g| ©
Oy
78,255 $9,45
i =
u)' (32
()
‘f: iﬁk LL
- O-Ring/
:| % Sea}ing i T |
L = Dichtflache/ oo | F=—T1
w |~ Y 1 ! Sealing surface GO i N
< ML Ti0 1] NS
L U WO UL-or
B1780s  [T| $14%00s %\J ~
T o
selektiv verzinnt/

selective tin plated

Coplanarity of all contacts, soldering sheets and shielding max 0,1 mm

82 CONEC



SMT DiMENSION DRAWINGS & LAYOUT PROPOSAL

‘ 135 .
e A HolREddsd o A H i
Layout proposal 4-, 5-pos. spolipos. 2 @ Ej ~ 8po|lpos[-‘ j ~
1
By
29,45
%
S
b 2
IT0 0 O 1 1 I
@100 ] 21430 J ~
(3 o
B
5pol/pos .
15 15
13,5 13,5
T
50
c IS IS C [ 2
Layout proposal 4-, 5-pos. Spolrpos e @adod - e 8polipos g+
& @ | LT
\_QQ-/
—
Dy 29,45
ey
7
S
.-3 @ T
JI 2 | 4 _aT
[ B1"30s M 214730 fll ] T
s N
32 9101 selektiv verzinnt/ J o
C * selectiv tin plated
D { D -
5pol/pos 8pol/pos -

Coplanarity of all contacts, soldering sheets and shielding max 0,1 mm

CONEC 83



SMT DiMENSION DRAWINGS & LAYOUT PROPOSAL

= AN
5 4 @[l

2 L= z L%

Layout proposal 4-, 5- g sl 19[S, Q S0H R (2
yout proposal 4-, 5-pos. \ileeel)

13,3

Layout proposal 8-pos. R R\ e —
13,3

#1730 147305

13
©
7

~

B Ell B =
pol/pos po polipos
5polfpos S 8pol 8polipos &

©)
72

945
1

C 3
Spol/pos 1 g @ 1.

Layout proposal 4-, 5-pos.
13,3 N

5
M12x1
#8.25 15

——1
F(RAN 1
— L
b !
el O-Ring/ i
@ | Sealing
: |

0
02

il

4

g

selektiv verzinnt/
selectiv tin plated

Coplanarity of all contacts, soldering sheets and shielding max 0,1 mm

84 CONEC



Layout proposal 4-, 5-pos.

13,3

Layout proposal 4-, 5-pos.

13,3

13,3

SMT DiMENSION DRAWINGS & LAYOUT PROPOSAL

P$9.45

O-Ring/
Sealing

9343,

Miax1 2

3,5
\

17305

21,430

13

9£01

"~ poss

B\L_
8polipos

8polipos !

selektiv verzinnt/ J“:
selectiv tin plated

Coplanarity of all contacts, soldering sheets and shielding max 0,1 mm

CONET 85



SMT DiMENSION DRAWINGS & LAYOUT PROPOSAL

Layout proposal 4-, 5-pos.

133

Mi2x1

22
13
LH
o

133 [

T Miaxi
>

m‘ B1*00s I P1.430s

Layout proposal 4-, 5-pos.
133

9,45
12

0y
M12x1

g-ng/
ealing

8
153 &Vr{\ﬂ

1
L

=i B M
S * T T T] ©
U 1
B1%, T #1428,
ML e = A
@ 9+01 selective tin plated
!

Coplanarity of all contacts, soldering sheets and shielding max 0,1 mm

86 CONEC



NOTES

CONEC 87



PART NUMBERS

Part Number Page Part Number Page Part Number Page Part Number Page
41-01476 59 42-01001 12 43-01006 17 43-01059 40
41-01477 59 42-01002 62 43-01007 17 43-01060 40
41-01478 59 42-01003 62 43-01008 17 43-01061 40
41-01479 59 42-01004 62 43-01009 13 43-01062 40
41-40000 15 42-01005 62 43-01010 13 43-01063 40
41-40001 15 42-01006 62 43-01011 13 43-01064 40
41-40002 15 42-01007 62 43-01012 36 43-01065 4
41-40003 38 42-01008 62 43-01013 36 43-01066 41
41-40004 38 42-01009 62 43-01014 36 43-01069 41
41-40005 38 42-01010 64 43-01015 17 43-01070 41
41-40006 15 42-01011 64 43-01016 17 43-01071 41
41-40007 15 42-01012 64 43-01017 17 43-01072 41
41-40008 15 42-01013 64 43-01018 26 43-01073 13
41-40009 16 42-01014 64 43-01019 26 43-01074 13
41-40010 16 42-01015 64 43-01020 26 43-01075 13
41-40011 16 42-01016 64 43-01021 26 43-01076 29
41-40012 38 42-01017 64 43-01022 28 43-01077 29
41-40013 38 42-01018 26 43-01023 28 43-01078 29
41-40014 38 42-01019 26 43-01024 28 43-01079 37
41-40015 16 42-01032 12 43-01025 28 43-01080 37
41-40016 16 42-01033 12 43-01026 39 43-01081 37
41-40017 16 42-01034 36 43-01027 39 43-01082 14
41-40018 24 42-01035 36 43-01028 39 43-01083 14
41-40019 24 42-01038 65 43-01029 39 43-01084 14
41-40020 24 42-01069 12 43-01030 39 43-01085 29
41-40021 24 42-01070 12 43-01031 39 43-01086 29
41-40022 24 42-01099 65 43-01032 40 43-01087 29
41-40023 24 42-01102 36 43-01033 40 43-01088 37
41-40024 15 4201107 39 43-01034 40 43-01089 37
41-40025 15 42-01108 39 43-01035 40 43-01090 37
41-40026 15 42-01114 39 43-01036 40 43-01091 18
41-40030 15 4201143 39 43-01037 40 43-01092 18
41-40031 15 42-01144 39 43-01038 28 43-01093 18
41-40032 15 42-01145 39 43-01039 28 43-01094 18
41-40033 16 4201146 39 43-01040 28 43-01095 18
41-40034 16 42-01147 36 43-01041 28 43-01096 18
41-40035 16 42-01148 36 43-01042 32 43-01097 13
41-40039 16 4201149 36 43-01043 32 43-01098 37
41-40040 16 42-01150 36 43-01044 31 43-01099 14
41-40041 16 42-11772 59 43-01045 12 43-01100 37
41-40042 24 42-11773 59 43-01046 28 43-01101 18
41-40043 24 4211774 59 43-01047 26 43-01102 18
41-40044 24 42-11775 59 43-01048 36 43-01103 26
41-40045 24 43-0202 71 43-01049 13 43-01104 26
41-40046 24 43-01000 12 43-01050 28 43-01105 26
41-40047 24 43-01001 12 43-01051 26 43-01106 27
41-40048 42 43-01002 12 43-01052 36 43-01107 27
41-40049 42 43-01003 36 43-01053 17 43-01108 27
41-40050 42 43-01004 36 43-01054 17 43-01109 33
42-01000 12 43-01005 36

88 CONEC



Part Number Page
43-01110 33
43-01111 31
43-01112 29
43-01113 29
43-01114 29
43-01115 29
43-01118 51
43-01119 49
43-01120 49
43-01121 49
43-01122 49
43-01123 52
43-01124 52
43-01125 53
43-01126 53
43-01127 28
43-01128 28
43-01129 49
43-01130 49
43-01131 49
43-01132 49
43-01133 49
43-01134 49
43-01135 29
43-01136 29
43-01137 49
43-01138 49
43-01157 51
43-01162 22
43-01163 22
43-01164 22
43-01165 22
43-01166 23
43-01167 23
43-01168 23
43-01169 23
43-01170 41
43-01171 41
43-01172 41
43-01173 41
43-01174 42
43-01175 42
43-01176 42
43-01177 42
43-01178 22
43-01179 22
43-01180 22
43-01181 22
43-01182 22

Part Number Page
43-01183 22
43-01184 22
43-01185 22
43-01186 41
43-01187 41
43-01188 41
43-01189 41
43-01190 42
43-01191 42
43-01192 42
43-01193 42
43-01196 43
43-01197 43
43-01198 43
43-01199 43
43-01200 23
43-01201 23
43-01202 23
43-01203 23
43-01204 43
43-01205 43
43-01206 43
43-01207 43
43-01208 23
43-01209 23
43-01210 23
43-01211 23
43-01212 34
43-01213 54
43-01214 34
43-01215 54
43-01216 33
43-01217 53
43-01218 33
43-01219 54
43-01220 31
43-01221 51
43-01222 31
43-01223 51
43-01224 34
43-01225 54
43-01226 34
43-01227 55
43-01228 32
43-01229 52
43-01236 51
43-01248 51
43-01249 53
43-01250 53

Part Number Page
43-01251 53
43-01252 53
43-01329 22
43-01330 13
43-01331 13
43-01332 22
43-01334 42
43-01335 42
43-01336 63
43-01337 63
43-01338 63
43-01339 63
43-01340 63
43-01341 17
43-01342 17
43-01343 37
43-01344 37
43-01345 14
43-01346 14
43-01347 18
43-01348 18
43-01349 38
43-01350 38
43-01351 19
43-01352 19
43-01353 19
43-01354 19
43-01355 19
43-01356 19
43-01357 19
43-01358 19
43-01367 35
43-01368 57
43-01378 20
43-01381 20
43-01492 20
43-01493 20
43-01494 20
43-01495 20
43-01635 65
43-01636 66
43-01637 63
43-01638 63
43-01642 57
43-01643 57
43-01644 57
43-01645 57
43-01646 57
43-01647 57

Part Number Page
43-01648 55
43-01649 55
43-01650 55
43-01651 56
43-01652 56
43-01653 56
43-01654 56
43-01655 56
43-01656 56
43-01657 56
43-01658 56
43-01659 56
43-01660 52
43-01661 52
43-01662 52
43-01663 43
43-01664 43
43-01665 43
43-01681 66
43-01682 63
43-01683 65
43-01688 65
43-01689 55
43-01690 52
43-01699 65
43-01700 65
43-01701 65
43-01703 35
43-01704 35
43-01847 32
43-01848 70
43-01848TR 70
43-01849 70
43-01849TR 70
43-01850 70
43-01850TR 70
43-01851 70
43-01851TR 70
43-01852 72
43-01852TR 72
43-01853TR 72
43-01854 72
43-01854TR 72
43-01855 72
43-01855TR 72
43-01867 14
43-01894 47
43-01895 47
43-01896 47

CONET 89



PART NUMBERS

Part Number Page Part Number Page Part Number Page
43-01897 47 43-02120 71 43-02341 47
43-01965 70 43-02120TR 71 43-02345 48
43-01965TR 70 43-02129 75 43-02346 48
43-02026 71 43-02130 75 43-02347 57
43-02026TR 71 43-02131 75 43-02348 58
43-02027 71 43-02132 75 43-02349 45
43-02027TR 71 43-02204 43 43-02350 45
43-02028 71 43-02205 43 43-02351 45
43-02028TR 71 43-02207 55 43-02352 45
43-02030 71 43-02246 56 43-02353 45
43-02030TR 71 43-02294 21 43-02354 45
43-02031 71 43-02295 21 43-02355 45
43-02031TR 71 43-02296 21 43-02356 45
43-02032 70 43-02300 21 43-02357 30
43-02032TR 70 43-02301 21 43-02358 30
43-02033 70 43-02302 21 43-02365 44
43-02033TR 70 43-02303 21 43-02366 44
43-02034 70 43-02304 21 43-02367 44
43-02034TR 70 43-02305 21 43-02368 44
43-02103 74 43-02306 45 43-02369 44
43-02103TR 74 43-02307 45 43-02370 44
43-02104 74 43-02308 45 43-02371 44
43-02104TR 74 43-02309 45 43-02372 44
43-02105 74 43-02312 44 43-02392 25
43-02105TR 74 43-02313 44 43-02393 25
43-02106 74 43-02314 44 43-02394 25
43-02106TR 74 43-02315 44 43-02395 25
43-02107 74 43-02316 50 43-02396 46
43-02107TR 74 43-02317 50 43-02397 46
43-02108 74 43-02318 50 43-02398 46
43-02108TR 74 43-02319 50 43-02399 46
43-02109 73 43-02320 50 43-02410 25
43-02109TR 73 43-02321 50 43-02411 25
43-02110 73 43-02322 50 43-02412 25
43-02110TR 73 43-02323 50 43-02413 25
43-02111 73 43-02324 30 43-02414 46
43-02111TR 73 43-02325 30 43-02415 46
43-02112TR 73 43-02326 30 43-02416 46
43-02113 73 43-02327 30 43-02417 46
43-02113TR 73 43-02328 47 43-16211 59
43-02114 73 43-02329 47 43-16212 59
43-02114TR 73 43-02330 47 43-16213 59
43-02115 70 43-02331 47 43-16214 59
43-02115TR 70 43-02332 47

43-02116TR 72 43-02333 47

43-02117 72 43-02334 48

43-02117TR 72 43-02335 48

43-02118TR 71 43-02336 48

43-02119 71 43-02337 48

43-02119TR 71 43-02340 47

90 CONEC



A WIDE RANGE OF CONNECTORS

[y ——

B i
B

170 Connectors

D-SUB ¢ HD-SUB * Combination D-SUB
D-SUB Hoods and Accessories

Filter D-SUB

RJ45 - Magnetic Modular Jack

IP67 D-SUB « IP67 HD-SUB ¢ IP67 Combination D-SUB
IP67 Filter D-SUB

D-SUB Hoods and Accessories

IP67 RJ45

IP67 Mini USB/USB 2.0

IP67 Fiber Optic LC Duplex

Circular Connectors M8, M12, 7/8", M23, Rund24

Connectors overmoulded
Connectors field attachable
Sockets

Panel Plugs

Connectors High Temperature
Connectors for Food & Beverage
Connectors for BUS-Systems
Junction systems

Valve plugs

Protection caps

PCB Connectors

AdvancedTCA

MicroTCA

CompactPCl

DIN EN 60603-2 * Combination DIN EN 60603-2
PC104 & PC104Plus

DIN 41617

Flatcable Connectors

CONECT 91



CONES
wWi\ioN

TECHNOLOGY IN CONNECTORS"

CONEC

Elektronische Bauelemente GmbH
Ostenfeldmark 16

59557 Lippstadt

Germany

Tel. +49 2941 765-0
Fax +49 2941 76565
E-Mail info@conec.de

www.conec.com

CONEC Corporation
125 Sun Pac Blvd.
Brampton Ontario
Canada L6S 5Z6

Tel. +1 905 790 2200
Fax +1 905 790 2201
E-Mail info@conec.com

CONEC s.ro.

Loucka 119

76325 Ujezd

Czech Republic

Tel. +42 0577 350132
Fax +42 0577 350134
E-Mail info@conec.cz

CONEC

343 Technology Drive
Garner, NC, USA 27529
Tel. +1 919 460 8800
Fax +1 919 460 0141
E-Mail info@conec.com

CONEC France SARL
202 Rue des Chevreuils
30320 Poulx

Tel. +33 9 75267217
Fax +33 4 66570916
E-Mail info@conec.fr

CONEC (UK) Limited
Ringway House East
Kelvin Road

Newbury, Berkshire
RG14 2DB

Tel. +44 1635 36929
Fax +44 1635 36925
E-Mail info@conec.co.uk

CONEC (Shanghai)
Int. Trading Co., Ltd.
Rm. 715 Yongding Bldg.

No. 3388 Gong He Xin Rd.

200436 Shanghai

Tel. +86 21 66300930
Fax +86 21 66300911
E-Mail info@conec.cn

CONEC Polska Sp. zo.o
ul.Szmaragdowa 10
52-215 Wroclaw

Tel. +48 713744045
Fax +48 713744049
E-Mail info@conec.pl

CONEC GmbH Schatz Electronic
Schubertstr. 14a

99096 Erfurt

Tel. +49 361 340110

Fax +49 361 3401111

E-Mail info@schatz-electronic.de

1000EU - Printed in Germany - www.pmr-werbung.de - 11/13/12278



